GENERAL NOTES: CORNER CONSTRUCTION: SEECii. THev i o USED Tom e ki || ima | wks
- - = ) Al o] . 3 A
1. THESE CURTAIN WALL SYSTEMS HAVE BEEN TESTED, ANALYZED & APPROVED FOR DESIGN STANDARD_FRAMING AT TOP & BOTTOM HORIZONTAL MEMBERS: VERTICAL THEY/ B 'T’ETE%LL?&?NRA%FOSLT ngggpﬁggflp'i%%vﬁi“ TR T
PRESSURES NOT TO EXCEED THOSE SHOWN IN THE "ALLOWABLE DESIGN PRESSURE TABLE(S). MEMBERS RUN THROUGH WHILE THE HORIZONTAL MEMBERS ARE SQUARE CUT, Ot oy DIEeE Donmga- CED BY THE MANUFACTURER
2. OPENINGS, BUCKING & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & INSTALLED T0 BUTTED AND MECHANICALLY FASTENED-TO:THE VERTICAL MEMBERS VIA A ' &
TRANSFER WIND LOADS TO THE STRUCTURE. SHEAR BLOCK (ITE) , . ~ 3
3. ALL HARDWARE & FASTENERS SHALL BE IN'ACCORDANCE WITH THESE DRAWINGS & SHALL HE VERT,CAE F(:?AE&AE #JS&BESEW,STT\Q ~ f}; 'f :‘AEf}*QN'?Q#EYS&SETV%\'EQHTEO MAXIMUM ALLOWABLE FRAMING
NOT VARY UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS. SPECIFIED ANCHOR EMBED TO R - M ,
O AR S O oy WL, ENISH OR Shocco HORIZONTAL FRAME MEMBERS ARE ATTAGHED TO THE SHEAR BLOCK WITH 2 __ MEMBER DEFLECTION
4. THE DETALS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS TESTED & NO. 12 X 7/8" PHTF SCREWS. CORNERS"ARE SEALED WITH DOW 795 L/180 (SPAN OF MEMBER
PROPOSED FOR WATER, AR, IMPACT, CYCLIC & UNIFORM STATIC -AIR PRESSURE TESTING IN SILICONE SEALANT; s , . - A z
CONFORMANCE WITH ASTM E330, E283, E331, E1886 & E1996 FOR LARGE MISSILE IMPACT STANDARD FRAMING AT INTERMEDIATE HORIZONTAL ‘MEMBERS: HORIZONTAL ‘DIVIDED BY-180) . £
CURTAIN WALL SYSTEMS. : - A MEMBERS ARE SQUARE CUT, BUTTED AND::MECHANICALLY FASTENED TO THE NOTE: THIS IS THE MAXIMUM ALLOWABLE 8
g-EQJ:E;EEN(;LSJRE/;'NT:VEAL,;TE&TA%”SN S s DCEOSII)(EN%I% C')N ACCORDANCE WITH AND MEET THE  VERTICAL FRAME MEMBERS VIA A SHEARGBLOCK (ITEM #16). THE SHEAR DEFLECTION AS RESTRICTED BY THE °
R e ARE NOT REQUIRED WITH' THIS. CURTAIN WALL SYSTEM, _ BLOCK IS MECHANICALLY FASTENED TO THE VERTICAL FRAME MEMBER WITH 2 BUILDING CODE. - IF JOB CONDITIONS S
7 ALL ANCHORS SECURING CURTAIN WALL FRAME TO PRESSURE TREATED BUCKS OR WOOD - NO. 12 X 1 7/8” FHTF SCREWS. THE INTERMEDIATE HORIZONTAL FRAME REQUIRE LESS DEFLECTION, -THE JOB - 2
FRAMING SHALL BE CAPABLE OF RESISTING CORROSION CAUSED BY THE PRESSURE TREATING MEMBERS ARE ATTACHED TO THE SHEAR:BLOCK WITH 2 NO. 12 X 7/8" FHTF CONDITIONS SHALL CONTROL. »
CHEMICALS IN THE WOOD. SCREWS. CORNERS ARE SEALED WITH DOW 795 SILICONE SEALANT. S
8. DETERMINE THE POSITIVE & NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING THESE TYPICAL 90 DEGREE CORNER FRAMING:.VERTICAL CORNER MEMBERS RUN ANCHOR LEGEND
DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING WIND VELOCITY. FOR  THROUGH WHILE THE HORIZONTAL MEMBERS ARE MITER CUT, BUTTED AND }
WIND LOAD CALCULATIONS IN ACCORDANCE WITH THE INTERNATIONAL BUILDING CODE, A , MECHANICALLY FASTENED TO THE VERTICAL- MEMBERS VIA A SHEAR BLOCK ANCHOR ANCHOR S o
DIRECTIONALITY FACTOR OF KD = 0.85 MAY BE APPLIED PER THE ASCE—7 STANDARD. (TEM £15). THE SHEAR BLOCK IS MECHANICA SYMBOL DESCRIPTION £33
9. NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE CERTIFICATION OF THIS - MECHANICALLY FASTENED TO THE VERTICAL B8
PRODUCT. WIND LOAD DURATION FACTOR CD = 1.6 WAS USED FOR WOOD SCREW ANALYSIS CORNER FRAME MEMBERS WITH 3 NO. 12-X 7/16" PHTF SCREWS. THE | an) STANDARD WIND LOAD ANCHOR ZOML
ONLY. _ ‘ HORIZONTAL FRAME MEMBERS ARE ATTACHED TO THE SHEAR BLOCK WITH 2 & [CORNER WIND : ] B
10, VATERIALS. INCLUDING BUT NOT LIMITED TO STEEL SCREWS, THAT COME INTO CONTACT WITH  NO. 12 X 1/2” FHIF SCREWS. CORNERS ARE SEALED WITH DOW 795 LOAD ANCHOR = 283,
%gsR% Sll)(l)SNSIgE_AST}:Aé;EIS:_Ir_ERSIEALL BE SEPARATED OR COATED. AS REQUIRED TO AVOID SILICONE SEALANT. - , T _ A [STANDARD DEAD LOAD ANCHOR = o%((gil
11. THERE SHALL BE NO LIMIT TO THE NUMBER OF HORIZONTAL & VERTICAL PANELS USED FOR 90 DEGREE_CORNER FRAMING AT_SPLICE JOINT_LOCATIONS: VERTICAL CORNER <D |CORNER DEAD LOAD ANCHOR ~| Ea8R
T TIING ALL RESTRICTIONS ARE MET PER THE ELEVATIONS. MEMBERS RUN THROUGH WHILE THE HORIZONTAL MEMBERS ARE MITER CUT, R ISTANDARD T—ANCH 4| 7R
T 10 e BEST OF OUR KNOWLEDGE, THE CURTAN WALL SYSTEMS SHOWN HEREIN ARE QUALTY ~ BUTTED AND MECHANICALLY FASTENED TO-THE VERTICAL MEMSERS VIA A —ANCHOR s 2286
ASSURED BY AN APPROVED CERTIFICATION/QA ENTITY & SHALL BE LABELED IN ACCORDANCE WITH ~ SHEAR BLOCK (ITEM #18). THE SHEAR BLOCK IS MECHANICALLY FASTENED TO & |CORNER T-ANCHOR =
APPLICABLE STANDARDS. THESE DRAWINGS SHOW ALL APPLICABLE ELEVATION, COMBINATION, THE VERTICAL CORNER FRAME MEMBERS WITH 2 NO. 12 X 7/16" PHTF 4 |DOOR JAMB U—ANCHOR Z g
INSTALLATION & COMPARATIVE ANALYSIS CONDITIONS AS DETERMINED THROUGH TESTING & SCREWS (2 PER SHEAR BLOCK). THE HORIZONTAL FRAME MEMBERS ARE . E L
NG O A A e ASoURMIoE. ShECRGATIONS & TESTNG | ATTACHED 1O THE SHEAR BLOCK WIH 2.N0. 12 X 1/2° FHTF SCREWS (2 A\ _|F-ANCHOR (FRAVE WEWBER ENDS) 3 ks
REPORTS. ’ PER SHEAR BLOCK). CORNERS ARE SEALED WITH DOW 795 SILICONE SEALANT. SEE SHEETS 6-10 FOR DETAILS OF . _ BB
+3 ORRTFICATION OF THESE CURTAIN WALL SYSTEMS SHALL BE CONSIDERED VOID IF THEY ARE ~ SIANDARD FRAMING AT SPLICE JOINT _LOCATIONS: VERTICAL MEMBERS RUN ANCHORS = ~
INSTALLED WITHOUT A BUILDING PERMIT FROM THE APPLICABLE LOCAL BUILDING DEPARTMENT OR THROUGH WHILE THE HORIZONTAL MEMBERS ARE SQUARE CUT, BUTTED AND i B
IF THEY ARE INSTALLED BY ANYONE OTHER THAN A LICENSED CONTRACTOR EXPERIENCED WITH MECHANICALLY FASTENED TO THE VERTICAL MEMBERS VIA A SHEAR BLOCK VERTICAL MEMBER REINFORCEMENT LEGEND| & | %
CURTAIN WALL INSTALLATIONS. (ITEM #17). THE SHEAR BLOCK IS MECHANICALLY FASTENED TO THE VERTICAL — REINFORCE ol g7
DRAWING USE INSTRUCTIONS: CORNER FRAME MEMBERS WITH 2 NO. 12 X 1 7/8” PHTF SCREWS (2 PER - MENT PART NUMBER 36 g T
| : SHEAR BLOCK). THE HORIZONTAL FRAME MEMBERS ARE ATTACHED TO THE = REINFORCEMENT PART NUMBER 36 & 37 3| biozh,
1. DETERMINE IF THE WALL SYSTEM IS TO BE A MULTI—SPAN, REINFORCED SHEAR BLOCK WITH 2 NO. 12 X 1/2” FHTF SCREWS (2 PER SHEAR BLOCK). = REINFORCEMENT PART NUMBERS 36, 37 & 38 | — | 5., 2¢5
SINGLE SPAN, OR NON—REINFORCED SINGLE SPAN CONDITION. IF CORNERS ARE SEALED WITH DOW 795 SILICONE SEALANT : ol @u 50
MULTI—SPAN, ALL CONDITIONS SHOWN ON SHEETS 2 & 3 SHALL APPLY. IF : = REINFORCEMENT PART NUMBERS 36, 37, 38 & 39|l Wl | il 523
A REINFORCED SINGLE SPAN, ALL CONDITIONS SHOWN ON SHEET 4 SHALL EVALUATION OF THIS PRODUCT IS BASED ON APPLICABLE STANDARDS AND/OR = REINFORCEMENT PART NUMBER 40 o 5"’”%%
APPLY. IF A NON—REINFORCED SINGLE SPAN, ALL CONDITIONS SHOWN ON INFORMATION & RESULTS FROM APPLICABLE TEST REPORTS. THE BUILDING CODE - . g EO®
SHEET 5 SHALL APPLY ¥EESIE%NLCONSIDERED WITH THIS EVALUATION WAS THAT IN FORCE AT THE TIME OF SEE PARTS DRAWINGS & PARTS LIST FOR APPLICABLE o} 4y egg
. ALUATION. IN THE EVENT OF CODE VERSION CHANGES, ) N o
2. CONDITIONS MAY NOT BE MIXED BETWEEN WALL SYSTEM TYPES. T TN OR AGDIONAL TESTAG 1S COMPLETED ON, TS PRODUCY, PRIOR T0 REINFORCEMENT MEMBERS & THEIR DETAL. > 5882
3. ALLOWABLE GLASS PRESSURE SHALL BE CONSIDERED WITH ALL WALL gﬁw& OC_th)DEENg?J}éIEPkIAgCE, ET}-Ci)E MANUFACTURER SHALL CONFIRM WITH THE Pl PR wZzr3
CONDITIONS AND SHALL CONTROL IF LESS THAN THOSE ALLOWABLE INEER OF RECORD THAT EVERYTHING SPECIFIED HERE-IN IS CURRENT = 8xF ¢
PRESSURES STATED FOR THE APPLICABLE FRAMING SYSTEM. WITH ALL CURRENT TESTING, CODES AND APPLICRBLE STANDARDS. vy A et
. - ....";" N Y = 23>
FREE SPANNING JAMB PERMETER SFALANT NOTE' GLASS D.LO. SIZE V5. ST S = 272
(APPLICABLE TO ELEVATION ON SHEET 5); L.0. SIZE VS. PRESSURE Soleigreyy B 8 ©
WHEN THERE IS NO CONTINUOUS JAMB SUPPORT, GLASS | MAXIMUM | MAXIMUM | ALLOWABLE gt R R o= _
THE MINIMUM & MAXIMUM ALLOWABLE SPACE OPTIONS | D.LO. | D.LO. DESIGN sl T QLY S u
BETWEEN JAMB FRAME MEMBERS & THE OPENING WIDTH |- HEIGHT | PRESSURE 7 a3 2 o2d . o oD
SUBSTRATE OR FINISHES SHALL BE SPECIFIED BY THESE 1.G. GLASS OPTIONS 5517793 1727 +/-90 PeF G T Zi22 15\~ B>
THE ENGINEER OR ARCHITECT OF RECORD FOR EACH ARE NOT APPLICABLE FOR' ' ' o 3 /e fosn (2T 0ol R S
JOB BUT SHALL NOT BE LESS THAN 1/2” NOR USE WITH A VERTICAL CORNER 25y [57.3/47 |94 3/4"|+/-90 PSF A hi Jigr |2 EE
GREATER THAN 1 3/8". WHEN CONSIDERING TYPE, FRAME MEMBER. 1G. GLASS - 73 3/4" | 54 5/8"[+/-90 PSF g, 1E __.(;Q,ﬁ.» & NEY
DEPTH & JOINT SPAN OF SEALANT, THE MAY ONLY BE APPLIED ; m Ro 4 teal :;E Lo Ot 1o ES
ENGINEER /ARCHITECT SHALL TAKE INTO BETWEEN INTERMEDIATE & 56 1/2" |93 1/2"|+/-65 PSF R Ao A
CONSIDERATION THE DEFLECTION OF THE JAMB ?}?X\A?NEFEQMEEO?SEMNB&RSSUPPLY 4 &5 - |57 3/4" |94 3/4"|+/—65 PSF A S EN
MEMBER THAT WOULD OCCUR WHILE SUPPORTING THE ¢ 73 3/4" | 5475/8" [ +/—65 PSF -
JOB REQUIRED DESIGN WIND PRESSURE. "ALSO TO A CORNER PRESSURE PLATE / /8| +/ NOTE: INFORMATION ON THIS SHEET] DW%?O' -
BE CONSIDERED SHALL BE THE MATERALS & FOR USE WITH I.G. GLASS) SEE GLAZING DETAILS FOR GLASS OPTIONS APPLIES TO ALL ELEVATIONS SHEET NO
SURFACES TO WHICH THE SEALANT WILL BE APPLIED. HEIGHT & WIDTH MAY NOT BE INTERCHANGED! L 1 o 18




(4) MOMENT VALUE SHOWN FOR THE CORNER MULLION IS DUE TO
THE RESULTANT LOAD IN THE PLANE OF THE MULLION (LOAD FROM

BOTH SIDES COMBINED INTO A RESULTANT). FOR SINGLE SIDE SHALL NOT EXCEED 4220 LB. FROM EITHER SIDE FOR

(LOAD FROM BOTH SIDES COMBINED INTO A RESULTANT).
FOR EITHER SIDE LOAD, THE ALLOWABLE REACTION LOAD

THE WIND & DEAD LOAD ANCHORS NOR 1265 LBS FROM

NOTES APPLICABLE TO MULTI-SPAN CURTAIN WALLS ANCHOR REQUIREMENTS TABLE (MULTI-SPAN CURTAIN WALL) s [
1. WITH EACH APPLICABLE JOB. SHOP DRAWINGS SHALL BE PREPARED AND CERTIFIED BY A LICENSED ENGINEER EXPERIENCED WITH CURTAIN WALL DESIGN. >S HHS,
2 THE RESPONSIBLE ENGINEER SHALL DESIGN THE WALL SYSTEM SEPARATELY FOR EACH JOB & CONFIRM THAT ALL CONDITIONS STATED HERE—IN HAVE BEEN OPENING TYPE FRAME/CLIP TO OPENING MINIMUM[  MINMUM || ss 55718/
CONSIDERED AND ADHERED TO IN THAT DESIGN. , (SUBSTRATE) FASTENER TYPE EMBED | EDGE DIST -
3. IN HIS/HER DESIGN, THE RESPONSIBLE ENGINEER-SHALL -VERIFY THE INTEGRITY OF ALL CONNECTIONS AND FRAMING MEMBERS & SHALL TAKE FULL RESPONSIBITY - - - . U
FOR THE INTEGRITY OF THE SYSTEM DESIGN AS A WHOLE WHILE NOT ALLOWING THE CONDITIONS STATED HERE—IN TO BE EXCEEDED. ALLOWABLE SUPPORT REACTIONS o o F—PERIMETER ANCHOR SCREWS =
AND VERTICAL FRAMING MEMBER BENDING MOMENTS SHALL NOT EXCEED THOSE STATED IN THE TABLES ON THIS SHEET, REGARDLESS OF JOB DESIGN. T : —= : S
4 THE CURTAN VALL DESGN ENONEER SHALL CONSIDER ALL APPLICAELE REACTON LOADS N HIS/HER DESIGN WHILE NOT ALLOWING THE REACTIONS RESUTLING FROM MIN. 1/8" THK A36 STEEL |1/4~14 OR 20 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2"
WIND LOADS TO EXCEED THOSE SPECIFIED IN THE ANCHOR REACTION LOAD"TABLE. , : WIN. 3000 PSI CONCRETE T ; 5 ;
5. THE WORSE CASE OF THE CONDITIONS SPECIFIED IN THIS PRODUCT APPROVAL DRAWING AND THOSE DETERMINED BY THE INDVIDUAL JOB ENGINEER'S ANALYSIS & )_3/8" CONCRETE SCREW ANCHOR 21/2°| 21/2" |5
DESIGN SHALL CONTROL AS APPLICABLE FOR THE ACTUAL JOB. .~ . . T & U—ANCHOR SCREWS/BOLTS (VERTICAL MEMBER ENDS)
6. REGARDLESS OF JOB DETERMINED MEMBER STRESS & DEFLECTION CONDITIONS, THE FOLLOWING SHALL APPLY: : . -v ; _ . ' z|
"A. REINFORCEMENT TYPE R1 MUST BE PLACED BETWEEN SUPPORTS IN ALL VERTICAL INTERMEDIATE FRAME MEMBERS THAT SPAN OVER 114" BETWEEN. THERR - 3/8°-16 430 SS HCMS OR GR. 5 CS THREAD| ry| RYZA =
SUPPORTS (NOT REQUIRED IF THE UNSUPPORTED SPAN IS 114" OR LESS & THE JOB DESIGN ALLOWS FOR NO REINFORCEMENT). " . < FORMING SCREW , e
8. IF BETWEEN 2 DOOR UNITS, THE VERTICAL FRAMING MEMBER SHALL BE REINFORCED. REINFORCEMENT SHALL BEGIN MAXIMUM 12" UP FROM THE SILL & EXTEND - 7" , : — 2
" MINIMUM 12" PAST THE DOOR HEAD FRAME. ' n o ? S , ' . ' 3/8” GR. 5 CS OR 410 SS BOLT WITH LOCK | ;| 34 |18
" ¢, ALL VERTICAL INTERMEDIATE FRAMING MEMBERS SHALL BE REINFORCED ACROSS ALL-INTERMEDIATE DEAD/WIND LOAD ANCHOR LOCATIONS WITH ONE: OF THE MIN. 1/4” THK A36 STEEL WASHER & NUT 1 z
REINFORCEVENT TYPES R1, R2 OR R34S SPECIIED N THE ELEVATION. THIS REINFORCEMENT SHALL EXTEND A-MINIMUM OF 18" ABOVE & BELOW THE T T T 11/27-13 300 SS HOMS-OR GR. 5 €S THREAD | pyp, e |8
D. REINFORGEMENT TYPE R4 IS REQUIRED IN ALL VERTICAL CORNER FRAME MEMBERS. [T SHALL BE CONTINUOUS BETWEEN ALL MEMBER SPLICE JOINTS AND FORMING SCREW €
EXTEND TO WITHIN 24" OF WALL BASE, 12" OF A SPLICE & 18" OF THE WALL TOP. ‘ z _ .
7. REINFORGEMENT IS NOT REQUIRED TO BE CONTINUOUS TOP TO BOTTOM WITHIN THE VERTICAL FRAMING MEMBERS. REINFORCEMENT MAY BE NON—CONTINUOUS, AS _ 1/2" GR. 5 €S OR 410 SS BOLT WITH LOCK | pyy | 1" 2
DETERMINED FOR EACH JOB, PROVIDING IT MEETS THE MINIMUM GUIDELINES OF THIS DRAWING. . ' : WASHER & NUT
8 THIS ELEVATION SHOWS THE 1600 CURTAIN WALL SYSTEM 1 IN A MULTI-STORY APPLICATION. THE NUMBER OF FLOORS WITH WHICH THIS SYSTEM MAY BE USED (2) MIN: 3000 PSI CONCRETE (1)1/2” CONCRETE SCREW ANCHOR 4" |SEE DETAILS
RANGE FROM TWO(2) TO UNLIMITED WITH THE ONLY RESTRICTIONS BEING THE MAXIMUM SPAN BETWEEN FLOORS/SUPPORTS AND THE MAXIMUM D.LO. SIZES SPECIFIED. ; AT — T — L = S
9. SPLICING OF VERTICAL FRAME MEMBERS MAY OCCUR BETWEEN SUPPORTS AS REQUIRED. LOCATION OF THOSE SPLICES SHALL BE WHERE A BENDING MOMENT OF (1) 3/8" & 1/2" CONCRETE SCREWS SHALL BE SIMPSON. STRONG—TIE TITAN HD SCREW ANCHOR - Zx o
R O e EnEuoN Skl SHOWS ONE DOOR SECTION. MULTIPLE DOOR SECTIONS MAY OCCUR SDE-8 (CALVANIZED STEEL). > 383
10. THE MULTI-SPAN ELEVATION SHOWN SHOWS ONE DOOR SECTION. MUL cT % SIDE~BY SIDE IN ONE WALL SYSTEM PROVIDING ALL by " e
REQUIREMENTS WITHIN THIS DRAWING ARE MET AND THE JOB DESICN-ALLOWS FOR THE MULTIPLE DOOR CONDITION. - , ; - (2) MINIMUM CONCRETE SLAB THIGKNESS FOR PLACEMENT OF "T" & "U" ANCHORS IS 7" =, 8
11. ALTHOUGH A DOOR SECTION IS SHOWN, THAT SECTION MAY EXIST WITH OR WITHOUT A DOOR. _ : : : = - : ~| E8<Y
12" THE ELEVATION HERE-IN SHOWS T-ANCHORS AT THE BASE OF THE WALL ONLY. THESE ANCHORS MAY ALSO BE USED AT THE TOP OF A WALL IN LIEU OF THE =1 28%02
WIND/DEAD LOAD ANCHORS SHOWN PROVIDNG THE SPAN BETWEEN THE T—ANCHORS AND THE BELOW WIND/DEAD LOAD ANCHORS DOES NOT EXCEED 167 1/2" (SAME =| o&s3
SPAN AS AT THE BASE) & THEY ARE INSTALLED THE SAME AS SHOWN AT THE BASE. T—ANCHORS MAY APPLY AT THE TOP END OF A DOOR JAMB FRAME MEMBER. Jl =EQ/
o] moecg R
p > ors
| 2 LE8S
il EE Lk
(1) MAXIMUM ALLOWABLE BENDING MOMENTS IN ANCHOR REACTION LOAD MAXIMUM ALLOWABLE DESIGN PRESSURE z 'g
VERTICAL FRAMING MEMBERS CAPACITY (MULTI-SPAN CURTAIN WALL) g
. ) =
(FOR USE WITH MULTI-SPAN CURTAIN WALL) (MULTI-SPAN CURTAIN WALL) +90/-90 PSF 3 ls
1. THE ABOVE STATED PRESSURES ARE THE MAXIMUM ALLOWED ON - k=
) (3) MAXIMUM ANCHOR ANCHOR (1) MAXIMUM ANY JOB REGARDLESS OF WHAT THE JOB SPECIFIC DESIGN RESULTS Py
p——— e coveie ||l el IEs e B e oe 5| 8
VAL. SEE
BENDING MOMENT REACTION LOAD "MULTI-SPAN WALL NOTES" ON THIS SHEET FOR ACTUAL JOB DESIGN bl 3%
(POS & NEG) [ |STANDARD WIND LOAD ANCHOR 8980 LBS CONDITIONS. ol ey
2. SEE ALLOWABLE GLASS DESIGN PRESSURE TABLE ON SHEET 1 . Z) o
INTERMEDIATE MEMBER WITH NO REINFORCEMENT | 61934 IN-LB €D |CORNER WIND LOAD ANCHOR (2) 5067 LBS | |FOR GLASS PRESSURE RESTRICTIONS. THE LESSER OF THE = B
& ISTANDARD ALLOWABLE PRESSURE ON THE FRAMING SYSTEM AND THAT OF THE Q1| wo =B,
INTERVEDIATE VEMBER WITH REINFORCEMENT "R1”| 84610 IN—LB ANDARD DEAD LOAD ANCHOR 8980 LBS GLASS SHALL CONTROL FOR THE OVERALL SYSTEM. =l 225.3
INTERMEDIATE MEMBER WITH REINFORCEMENT "R2” | 115852 IN-LB <0 |CORNER DEAD LOAD ANCHOR (2) 5967 LBS | % ‘ Eé Ey3
B . N = . o r~
INTERMEDIATE MEMBER WITH REINFORCEMENT "R3”| 133705 IN-LB g ELAI;NNE;Ra‘ TNACNHCOHOR . 3152 LBS 5| s>BE
—_ I ;=
INTERMEDIATE MEMBER WITH REINFORCEMENT "R4”| 150418 IN-LB & ook JAMBAU ANEHOR 2) ;ggi tgz NOTE: INFORMATION ON © | WF 85y
—_ X o @
CORNER MEMBER WITH REINFORCEMENT "R5"  [(4)141377 IN-LB THIS SHEET APPLIES TO > | 5§82
NOTES: A F—ANCHOR (FRAME MEMBER ENDS) 1131 LBS ELEVATIONS ON SHEET 3 we | é ~3
NOIES: EN 5S¢
(1) THE VALUES IS THIS TABLE ARE APPLICABLE TO THE JOB (1) MAXIMUM ALLOWABLE REACTION LOADS SHOWN ONLY. . 1ET3R
REQUIRED DESIGN OF THE MULTI-SPAN WALL SYSTEM & NEED NOT | |CONSIDER REACTIONS FROM WIND LOADS ONLY & APPLY . : |33z
BE CONSIDERED WITH SINGLE SPAN WALLS. ALL SINGLE SPAN TO BOTH POSITIVE & NEGATVE WIND DIRECTIONS. ~IN £ |g 8
MEMBER & REINFORCEMENT CONDITIONS SHALL BE AS SPECIFICALLY | |ADDITION TO WIND LOADS, THE CURTAIN WALL DESIGN
SOECIFIED N THE SINGLE SPAN ELEVATIONS. ENGINEER OF RECORD FOR EACH PROJECT SHALL ALSO .
(2) FOR DESCRIPTIONS OF REINFORCEMENTS, SEE THE "VERTICAL CONSIDER OTHER APPLICABLE LOADS SUCH AS, BUT o @
C , S VER] POSSIBLY NOT LIMITED TO, DEAD LOADS FROM THE z £3
MEMBER REINFORCEMENT LEGEND". , CURTAIN WALL WEIGHT z g3
_ : - 5 B2
%)MAEILQLT \//\/LLDUEASLL%TNEABBLAESEAEOSQNTTHE WORSE CASE OF TESTED (2) REACTION LOAD SHOWN FOR ‘THE CORNER ANCHORS 3 \ee \ONES
: IS THE RESULTANT LOAD IN THE PLANE OF THE MULLION = P .
=
@ g\/ o

WARREN
Va
(/

P4

DRAWING NO. |R

LOAD, THE ALLOWABLE MOMENT SHALL NOT  EXCEED 70688 IN-LB.-
IN THAT DIRECTION (LOAD VECTOR 45 DEGREES TO MULLION EITHER SIDE FOR THE T—ANCHOR.
ANGLE). 1789T
SHEET NO.
2 o 18




ms 2 SSSS—6vY—0LL Bivss 1 “SNAGNVG HOVIA WV EL n.wwwwvz%\%\. M\vﬂ\m_\mx<>> m 0
gz 2 ¢600¢ VO "SSOYOYON HIMON 14N0D HI0SL 08%L 7 o
¥ 53 ED@O JOdIHINS GGG (086¥1—4 ‘ON "93d) V'd ‘ONILINSNOD m.Tl g
"ONI "ANVANOO  4FINMWM % ONIRMIANIONZ ¥I4AVHOS ‘M "M ] ol 5
El0C 0¢ A
Eul » “INOILYWHOANI 80P SINVLINSNOD W_nm %
ww .n.m yegars . M1» IV
g |2 alva A8 NOLLI¥OS3a NOISIAZY  ['ON A._ Er_v TIVM NIVLAND L WALSAS 0091 d33q «9 —\m _WE_\H ONIMYHA NOILYOI4IL43D _D
= R Y
M 52 NG
N ——— .l. UPI.C
M %EMWM...O&@ZMOQ.%Q%J
\VV o-. -.. ‘
Nﬂ-.“...ll“hlm-vwvr u-%p'»\
. 7 HAJAVHOS ‘M NItuvm 4
A \.-.. ........... o-.-n..-o-.-c\
= {
Sz
. 2 <C|
AEER
W ajaly
DS
o iRz
MRE
. =z
= | EUS .
| = 5=S24g
) 3388 ~2dw3ug
(i TN SdTdq 2z
e 8ge 32388ES
7 m 1 > CTRES <<AL<EAR
. | J i
<C : <C / . 3% &)
z N xa °x [ a7
n2 = - o< <t W 0 a.
~ - = == =& ~
— < = - _ _ < X
oL | =3 | 1 2
| , : 1 ~ D _I_JIL =
A2 2 .. Avd A4 v A4 v A hv4 A4 Avd A4 v v A4 . 2 N v 4 hvd Avd
. A | o
g NED > \ N N S R AN T ERE:
: iz pu N il S |8EE 5y
i | B o= _%Iﬂlﬂlﬂlﬂlrllﬂlw Spw M
0= N s N L~ 1R
o~ N — Ay A l4besE 3
(] E [T} X s OAag Wv 2
= N PLwn | |2 o W=
=< N N N N N - n w !
a IR A > /\- N e 1 | &S]
R e e S S VR | | M ery——a Ll Il === = e "
o *‘ E /Il\ W /// O U -
ML o
M = \ o g AR >
= % P = @D 3z
Zz T L (|- =S —1l N
T o2 = N ey oz_zm%\mooa BGE
s ) XYW 8/L L6 o 2|9
W _ | A X @ v~ N ol
% s S N I Y S— — ] D
L oo 2
< _ 2] N m|sg N A &
LW 54 M= S L 133HS NO Favl o5
L = 290°L - A7s 013 — o
%« SO e R @W = 070 XYW ¥04 £3
3 N\ O RH425 AR . R
| SO s 97 TN p S5O |\ N ™
S T | A | T 1P
* Psd
bl T‘ KM —
© o o [
~ =g bt =T
> §°g | 508
M . . . ! -~ O
RS INIWADYOANIFY T33LS LNOHLIM - o INIWIOYOINIZY T3ALS LNOHLIM
o % 'SLY0ddNS NIIMLAT XYW L1 SL0ddNS N3IMIIE XYW bl 1
> L ININIONOANIZY 133LS HLIM INIW3OHOANIY 133LS HLIM
M SLNOddNS NIIMI3E XYW ,¥/1 /91 S140ddNS N3Imi3a "Xvw .2/1 /91
: . ” o 1
* * _|._ —_—— e — I I..I.ll_lﬁu_lllil.. lllllllllllll ue A_n
. YIAWIN FNVH HINHOD —
) ~
_._;S._L * @Nu@ m.a. N N @W N A\ »An M
2 o] ==,
a- o py L= o
&5 , ] >3-
<~
@ 2N || YIINAN INvad LviaawyaIN : T= 23l
= e L === O
N B —
. N EEIN B \ ZEN
W N~ 50 Lol % M
— Z U n &
8 =k I ElElsR | o Sl
& _ sz s )
<C
N N X (=R R Lol
- _ N N P wzawan awves awee NN ==
* * . -y F-Y A -y r-Y a F-Y =Y =Y a F-Y [y a A a F-Y ) & [~y A E
- —
SO E . BN = " \__\ __ l_
N = S\Of— > — = o wn H :
- L ' 2~ < 4 Qi _// . =z . o 3 2 X
— : S z O O ZN@ s % HZo0g O ~Z
o~ S WTMWW @ = mmommN z
= TER 25,7225 3
SECWRE; o &
WwHITE" SHSS
a a. o £ MmO
S27ZT wWw < W
ML < NE FNX




CHECKED BY:

ALLOWABLE DESIGN PRESSURE SR WAL = ANCHOR REQUIREMENTS TABLE WA WHS,
(SINGLE SPAN REINFORCED CURTAIN WALL) 1. REINFORCEMENT SHALL RUN CONTINUOUS IN INTERMEDIATE AND (SINGLE SPAN REINFORCED CURTAIN WALL) I
CORNER VERTICAL MEMBERS & EXTEND TO WITHIN 13 1/2" OF TH
VAXIMUM | MAXIMUM ALLOWABLE PRESSURE ENDS. /7 or e OREING IEE FRAME/CLIP TO OPENING MINMUM - MINIMUM
MULLION LOAD (POS & NEG PSF) 2. THERE IS NO LIMIT TO THE NUMBER OF SECTIONS HORIZONTALLY (SUBSTRATE) FASTENER TYPE EMBED | EDGE. DIST. (| =
PROVIDING THE OPENING IS DESIGNED TO SUPPORT THE LOADS f
SPAN 'WIDTH AT STANDARD & | AT DOOR JAMB TRANSFERED FROM THE WALL SISTEM F—-PERIMETER ANCHOR SCREWS N
(IN.) (IN.) |CORNER MULLION MULLION C= B e WA oo S oEons Sibe N : |MIN. 16 GA 50 KSI METAL STUD| _ 1/4-14 GR. 5 SELF TAP/DRILL SCREW FULL /2" |I®
76 1/4 81.0 69.3 — SYSTEM PROVIDING ALL REQUIREMENTS WITHIN THIS DRAWING ARE MET MIN. 2X6 WOOD FRAME OR 1/4” DIA. GR. 5 COARSE THREAD . .
7| e A 4 U oo VT G DR g UERS | B 2 s c09) | T T JRAE A -
147 68 5/8 90.0 77.0 4, ALTHOUGH A DOOR SECTION IS SHOWN AT A SIDE JAMB, THAT MIN. 1/8" THK A36 STEEL [1/4—14 OR 20 GR. 5 SELF TAP/DRILL SCREW| FULL |  1/2" 5
: SECTION MAY EXIST WITH OR WITHOUT A DOOR & T ‘ ; 1|3
, 62 90.0 B5.2_ Bt b s T OR & THE DOOR MAY MIN. 3000 PSI CONCRETE (1) 3/8" CONCRETE SCREW ANCHOR 21/2° [ 21727 ||&
w07 £ AOWEL E 0k TAOT A 2, 25 0 T & U-ANCHOR SCREWS/BOLTS (VERIICAL NEVBER ENDS) |
. . WALL IN UEU OF THE WIND LOAD ANCHORS SHOWN PROVIDING THEY : . " e p 2
77 87 6 729 ' ARE INSTALLED THE SAME AS SHOWN AT THE BASE. Co 3/8"-16 430 SF%RHMCI:IEJAS ggngF/{ 5 CS THREAD | pypi 3/4” g
144 |68 5/8 20.0 /8.6 JK | 3/8 GR. 5 CS OR 410 55 BOLT WITH LOCK |y | 3/4 |2
62 90.0 86.9 L MIN. 1/4” THK A36 STEEL WASHER & NUT
59/ 90.8 3(;.(1) DU s . D -, ~ |1/2"-13 300 SS HCMS OR GR. 5 CS THREAD | py. o S o
76 1/4 90. . : =<1 ) FORMING SCREW Zx2
132 72 90.0 81.7 [\ . /] 1/2" GR. 5 CS OR 410 SS BOLT WITH LOCK » = 8RI3
| 68 5/8 90.0 85.7 ' - PLAN VIEW - WASHER & NUT - FULL 1 2o _8
65 90.0 90.0 Chs SINGLE—SPAN REINFORCED CURTAIN (2) MIN. 3000 PSI CONCRETE (1)1/2” CONCRETE SCREW ANCHOR 4" |SEE pETALS|| = g‘énga
120 76 174 90.0 84.8 WALL (1) 3/8” & 1/2" CONCRETE SCREWS SHALL BE SIMPSON STRONG-TIE TITAN HD SCREW ANCHOR 3| CEgy
72 90.0 89.8 SCALE: 1/4" = 1'=0” (GALVANIZED STEEL). v < 5%8,‘3
112 76 1/4 90.0 90.0 (2) MINIMUM CONCRETE SLAB THICKNESS FOR PLACEMENT OF "T" & "U” ANCHORS IS 7" 2’ 2oen
1%
PRESSURE_TABLE_ NOTES: < 4 = |5
3”%55?2 ELEVATION FOR DIMENSIONING OF LOAD FOER MAX. D.L.O., 56 1/2” 58 1/2” FOR MAX. D.LO., DFEI(?) Mé)éE ’ Z §§m =z
IDTH. » s » <
2. PRESSURES SHOWN ARE SPECIFIC TO EACH S ETA%IL'EO‘OSIZE ==~ MAX. AT —= 3 9/16"  |=— MAX. AT — L—- SEETADB‘II:[‘_:O‘OS'ZE ——~—D.L.O. SIZE —}— 733/4" I 2.1/2" = S
INDIVIDUAL MULLION SUPPORT AREA. , CORNER . CORNER TABLE ON MAX. : SIDE_ JAMB 3
ALLOWABLE PRESSURE MAY VARY FROM BAY TO SHEET 1 3 9/16" — |— SHEET 1 F—PERIMITER ANCHOR 3 |a
BAY AS lr)\lICTATED BY EACH INDIVIDUAL MULLION 4" | R /2” A2 21/2" X 2 1/2” SHEET 1 2 1/2” SCREWS WHERE R £
CONDITION. ~ - ™ -
3, LESSER OF PRESSURES STTED NS [ muax. JJ 1 11 : SHOWN. SEE “ANCHOR = =
ABLE & ALLOWA , z — »
SHOWN ON SHEET 1, SHALL CONTROL AS ] N DIH ¢ B LB H REQUIREMENTS TABLE El «3
ALLOWABLE FOR THE WALL ASSEMBLY. JAMB A % 4 4 Y 4 JAMB ON THIS SHEET FOR 7] <
4. LESSER PRESSURE AT DOOR MULLION IS T ERAME (KN (KN 7 _ W7 ly Bz REQUIREMENTS ol o7
DUE TO THE DOOR JAMB U-ANCHOR HAVING A b EMBER Qo i~ ' SN - | I INTERMEDIATE FRAME 4 ’ Z) o
LESSER CAPACITY THAN THAT OF THE M ] = l & enlr | | FRAME MEMBER S| &.. 3
R o gl 525 2 S.5 | | . MEMBER AN _—TYPICAL AT ALL | 2287
yiom = o i ACHOR Il B20% JIn %3 | 1 97 HORIZONTAL o | 2o sl
: ' wll T - < {lu z-Z l /. Q kgs
TYPICAL AT ALL_/MAX- — | INTERMEDIATE FRAME DETAILS, SEE |2l w 'g &z 2 5‘33 | - r—r 'K, LNl MAX. MEMBER ENDS :LT:JJ ';Ez',é’g'f
HORIZONTAL MEMBER | SHEETS 6, 7,[E[) 2ZE= )&  xbzg | 1 Z (D2 B 253
SYE clm G/EJ . ADD 1 EXTRA : | g E°e®
MEMBER ENi/ & VA% 0C. (TYP) 9 & 10 gl EZ20 g% | 5 Lo | grgUgLEogooRQy o ,gn  ANCHOR WHEN - ©| Y2 85y
. . U . =z . = I omo
SIDE JAMB F—PERIMITER + \ / il 208 IE\2 | 7| ¢ 2 7 |}, UNDER SEPARATE ; wAX. 0.c. POUSLE DODR w| gg ke
ANCHOR SCREWS WHERE OPPOSITE — / P =egs |l 3 | 3 % & | m{ APPROVAL. _ %ﬁ“’f (TYP.) REQU,RE(D WITH =N 25 £
SHOWN. SEE "ANCHOR | Nz4= | < == == il B
- CT\ o N = Y 12 i s =75
REQUIREMENTS TABLE” ON Eh 1 LY e | 7 7 | NI 'll I,'\\ e SINGLE DOORS) g %gg
THIS SHEET FOR TN < i) ! > 8 TN pall g |z S
REQUIREMENTS. W, | 25 /B |,I \, e 7 e
A\ ' ' il 20 _ R 2] .
J— — i - i 1 g I_L— - / ——- R S Y 2 z
¢ T 2 @ S ¢ B < = 'y & ShiE iy BN |8
LOAD [~ LOAD WIDTH —=| LOAD |=— — LOAD — LOAD WIDTH ———— LOAD WIDTH ———LOAD WIDTH—— LOAD [— 2% I ~| 22
WIDTH WOTH '\ _/ WIDTH WIDTH ol b G s OMIEL EON\[E
NOTE: INFORMATION ON MEMBER  DLO pLO. pEMBER D.LO DLO D.LO DOOR  MEMBER ;o:% EIR N SR N
S UL LU [ S VN slaelsy P S W : « >, - UJ: 9
THIS SHEET APPLIES TO|  CENTERLINE CENTERLINE CENTERLINE CENTERLINE CENTERLINE CENTERLINE CENTERUNE CENTERUNE  #%% ¥ iz !~ O.9F g
) » { = LC e
ELEVATIONS ON THIS EXTERIOR ELEVATION VIEW "C—C”; EXTERIOR ELEVATION VIEW "D-D”; Wor g e
SHEET ONLY. SINGLE—-SPAN REINFORCED CURTAIN WALL SINGLE—SPAN REINFORCED CURTAIN WALL ¥yl E fpad 17891
SCALE: 1/4" = 1’0" SCALE: 1/4" = 1'=0" ™" SHEET NO.
B 4 or 18




ALLOWABLE DESIGN PRESSURE FOR MAX. D.LO. ) ) FOR MAX. DRAYN B [CHECKED &:
, 58 1/2 58 1/2 FOR MAX. D.LO., .
(SINGLE SPAN SEE D.L.O. SIZE _||— ] e | B || SEE D.LO. SIZE D.LO., SEE 73 3/4" , P L
— MAX. AT 39/16 MAX. AT L el D.Lo. SIZE —{[—— — 2172 AL
NON—REINFORCED CURTAIN TQHBEETO{\] CORNER , CORNER TABLE ON TABLE. ON T MAX.
) ) SHEET 1 . JAMB & £
, WALL) o 21 3918 D2 177~ N 2172~ SHEET 1 || 5 1/0" P ﬁggHéREﬁé\N z
MAXIMUM | MAXIMUM[  ALLOWABLE [ MAX. Il ‘ 2 , K MEMBER
MULLON | LOAD | PRESSURE g = - /G2 ~ / vpipall
|y (POS S P 5 & ) | fég q O UHE - B R RED WTH
(IN.) INy. [ PSF OPPOSITE = sfm—— = KN , : = D E’, 9" 3
— 175 1/4 750 /CN o N I AN AN 1 || -NTERMEDIATE — R 7 wax. SINGLE DOORS) I
o - ARE )~ LA | FRAME MEMBER /TN | Az 407 a5 N 1
O R 76.2 NN { || B f - o < | ko v T2 TYPICAL AT ||&
114 T 230 (C2 FOR END ||| o 11 SYE v 4/ S N2/ || [VSINGLE OR \I2/ 1™ ” ALL
| 66 2 I |[18" uax. o.C. (YP) || IaycHor (2] 2 ks Jod | Gs - %2 ||| JDOUBLE DOOR 1 - HORIZONTAL |13
e 90.0 - _ pETAILS, SeE (B[] B g oI \ 7|22, 7 ||]/UNDER SEPARATE | il MAX. O.C. - eieER N
76 1/4 76.0 9T EL!E___ SHEETS 6, 7,|o, l ) ILnJ 5 Sz s O APPROVAL. _ RIS (TYP.) ] o
72 80.5 MAX- S N leeto E 2 IE: 55 4, A« e : ===pl == ENDS 3
108 : JAMB N g = = 7 ™~ | N ° /b e 1~ =
66 87.8 - kFRAME NTERMEDIATE el i e | gg N /1 SIDE JAMB
64 90.0 MEMBER FRAME . %5 : i ] o o w < = ‘ : ] I] \ " ” / | , /F_PERIM'TER .
76 1/4 80.5 | MEMBER B T I|& (B2) | | - | Y /gl © ANCHOR Zx9o
102 72 852 ) 4 L N8| sV | |7 il 7. Z =L==//\.Jl L= 7] i SCREWS WHERE 381
] — A— (1 ! L) T . SHOWN. . SEE . . e Z 'e]
68 - 900 ? : » B .
5 17 = o J 1/2 =) 12 |d & 124 B ~ & - 1/2 4 | "ANCHOR ~| E857
96 ' : LOAD [~ LOAD WIDTH —= LOAD [— — LOAD |— LOAD WIDTH —=f=— LOAD WIDTH —={=— LOAD WIDTH ——  LOAD - MAX. REQUIREMENTS || S | S22
- 76712 ; 288 WIDTH WIDTH \— j WIDTH WIDTH TABLE” ON THIS || _i KE%T
. ~ D0
— / (MEMBER | DLO. D.LO. MENBER D.L.O. D.LO. D.LO. DOOR  MEMBER ggggRgﬁgNT S| HBeR
NOTES: CENTERLINE EDGE CENTERLINE CENTERLINE CENTERLINE CENTERLINE CENTERLINE S 2] Enx
1. SEE ELEVATION FOR DIMENSIONING OF LOAD WIDTH. pe on » (PLACE 2 RoWs || £ [ 289
oSO Mo A S Mibtane B E RN AU T P IEn To oo | - [E 2%
PRESSURE. VAT VARY FROW BAY go' BAY AS DICTATED SINGLE—SPAN NON—REINFORCED CURTAIN WALL SINGLE—SPAN NON—REINFORCED CURTAIN WALL OR METAL STUD || % |§
BY EACH INDVIDUAL MULLION CONDITIOR. WITH CONTINUOQUS SIDE JAMB FRAME F—ANCHOR WITH CONTINUOUS SIDE JA i
3. LESSER OF PRESSURES STATED IN THIS TABLE & : MB_FRAME F—ANCHOR SUBSTRATES) x |5
THE ALLOWABLE GLASS PRESSURE, AS SHOWN ON SCALE: 1/4” = 1'=0" SCALE: 1/4" = 1'-0" 3 Iz
SHEET 1, SHALL CONTROL AS ALLOWABLE FOR THE g S
WALL ASSEMBLY. ' - - . -~
: SEE "FREE SPAN JAMB IL'-J'QX‘SE %_0 TSSE}EO’?ST FEI,%EUBI(;LDTSOTTR}ZEJ Sl:_légggRFgg S_!;CTIONS HORIZONTALLY PROVIDING THE OPENING IS DESIGNED = 8
» M THE WAL .
PERIMETER SEALANT NOTE A MEMBER A 2T SNGLE-SPAN ELEVATION SHOWN SHOWS ONE '500R, SECTION, MULTIPLE DOOR SECTIONS MAY Bl <2
ON SHEET 1. OCCUR SIDE-BY SIDE IN ONE WALL SYSTEM PROVIDING ALL REQUIREMENTS WITHIN.THIS DRAWING ARE MET 4 QS
ANCHOR REQUIREMENTS TABLE ) D E \ icLL%mPBERE B%Q?GKJIBL%S(SDLIJ?E?NCE BETWEEN DOOR CENTERS) IS CONSIDERED WHEN DETERMINING 2 ZLL ©
! _ . o [ -
(SINGLE SPAN NON—REINFORCED CURTAIN WALL) OPKPC(%E — =¥ —=q l §b %}Zﬁ; SO[())OROARAAiEgQI%N IIS ASS?VEIXYI.AT A SIDE JAMB, THAT SECTION MAY EXIST WITH OR WITHOUT A S g g §§ .
\ N HERE-IN SHOWS T—ANCHORS AT THE BASE OF THE WALL ONLY. THESE ANCHORS MAY — 1 £<9ps
OPENING TYPE FRAME/CLIP TO OPENING MINIMUM|  MINIMUM < W7 0% 3N Fiso se Ustd AT T 1o o 25
(SUBSTRATE) FASTENER TYPE EMBED | EDGE DIST. W l II // lll Ill[ \Ml l < ?STRAE%Eg st SHOSVZ /j‘l\ TW$H_E ISASUEE,U OF THE WIND LOAD ANCHORS SHOWN PROVIDING THEY ARE lg_d 58 ,%_:% :r}_
C R ARDLESS OF FRAME HEIGHT, CORNER FRAME MEMBER MUST BE REINFORCED. e e 88t
F—PERIMETER ANCHOR SCREWS é | I; /] I N | RUN CONTINUOUS & EXTEND TO WITHIN 13 1/2" OF THE FRAME MEMBER ENDS. RENFORCEMENT SWALL ) & 5\_,; §§
MIN. 16 GA. 50 KSI METAL STUD]  1/4-14 GR. 5 SELF TAP/DRILL SCREW FULL [ 1/2° k:‘: m N G SIE JAMB FRAE MEVBERS MAY BE SUPPORTED ETHER BY A CONTINUOUS SIDE JAUB F—PERIMITER o | BF 8z
MIN. 2X6 WOOD FRAME OR 1/4” DIA. GR. 5 COARSE THREAD , ) _—— == 7. IF BETWEEN 2 DOOR UNITS, THE VERTICAL FRAMING MEMBER SHALL BE REINFORCED. REINFORCEMENT Sl E ogé
BUCK (MIN. GR. 2 & G=0.55) SCREW 11/4 3/4 T JAMB | II\ ° /1 SHALL BEGIN MAXIMUM 12" UP FROM THE SILL & EXTEND MINIMUM 12" PAST THE DOOR HEAD FRAME. 2 8% ,?Ea
MIN. 1/8" THK A36 STEEL | 1/4—14 OR 20 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2” ,‘F,,}E?AMBEER 'l: \\ | // 1 En 225 g
MIN. 3000 PSI CONCRETE (1) 3/8” CONCRETE SCREW ANCHOR 21/2" | 21/2 || \/I " 4 1 a3 o ggé
T, F & U-ANCHOR SCREWS/BOLTS (VERTICAL MEMBER ENDS) 7|1k~ =L 2] = B BB 8
. ” 8 “6“'\ 9
R Sl e N R I BLa e SRR
MIN. 1/4" THK A36 STEEL - — AR N i
/ 3/8" GR. 5 CS OR 410 SS BOLT WITH LOCK | 3/4" SINGLE OR DOUBLE SINGLE—SPAN NON—REINFORCED A ! j’@% LL.;
v WASHER & NUT DOOR UNDER CURTAIN WALL R A
MIN. 1/8" THK A36 STEEL | 1/4—14 OR 20 GR. 5 SELF TAP/DRILL SCREW| FULL 12" SEPARATE APPROVAL. e SCALE: 1/4" = 1'-0" ‘F%;“%’ =g g
(2) MIN. 3000 PSI CONCRETE (1) 3/8” CONCRETE SCREW ANCHOR 5 1/4 |see ooas|  ALTERNATE SIDE JAMB FRAME CONDITION ' P U;F f:mi_ Pl s 59
MIN. 2X6 WOOD FRAME OR 5/16" DIA. GR. 5 COARSE 4 \ (SUPPORTED BY END F—ANCHORS VS, ’\ - B Al TN :
BUCK (MIN. GR. 3 & G=0.55) THRFAD SCREW 11/ 3/4 e, : [1: YR
_ CONTINUOUS SIDE F—ANCHORS) FI ot e et EN
MIN. 16 GA. 50 KSI METAL STUD|  1/4—14 GR. 5 SELF TAP/DRILL SCREW . | FULL | 1/2" . SCALE: 1/4" = 10" | QR LS f
(1) 3/8" CONCRETE SCREWS SHALL BE SIMPSON STRONG-TIE TITAN HD SCREW ANCHOR (GALVANIZED ALL CONDITIONS SHOWN IN THE MAIN ELEVATIONS |NOTE: INFORMATION ON THIS i“xi\,— U}JMYS,'N:NO =Y
STEEL). OF THIS SHEET SHALL EQUALLY APPLY TO THIS e 1789T
(2) MINIMUM CONCRETE SLAB THICKNESS FOR PLACEMENT OF T", "F” & "U” ANCHORS IS 5 1,/2" SIDE JAMB CONDITION. SHEET APPLIES TO ELEVATIONS
ON THIS SHEET ONLY e
. 5 o 18




DRAWN BY: CHECKED BY:
_ . W.W.S. W.W.S.
SUPPORTING SUPPORTING P Mo
1/2-13 X 4 1/2" /STEEL 1/2-13 X 4 1/2" /STEEL \—SUPPORTJNG STEEL
HEX HEAD BOLT & SUBSTRATE HEX HEAD BOLT & ' SUBSTRATE ° - SUBSTRATE BY = £
FLAT WASHER BY OTHERS FLAT WASHER @ BY OTHERS - OTHERS b
I n | — :
EXTERIOR]| | | (7Y3) EXTERIOR]| | . - ,
. - g, AV — | — - :
i % ¥ AN ANRANAN [E \ . ’. B . %
R | | o i) B LB
L6} | B2 C — STEEL : ' T STEEL . R 4 i g
, REINFORCEMENT REINFORCEMENT - J _
: AS REQ'D ] AS REQ'D AN g
_J_A @ I @ .
1/2-13 LOCK NUT « 1/2-13 LOCK NUT- i Seo
& FLAT WASHER ' & FLAT WASHER - =33
i £
J TLBA T L P
- — . © —] —— = ~1 228
. | SUPPORTING l 3 e ' 3| 8xu4Y
11/2" MIN. Lyt N 11/2" MIN. L1 1/2" M, STEEL SUBSTRATE = OEg)
= o200
» » ) » BY OTHERS Lt O~
/4,3 /4,3 S| E96R
11/2" 10 2| 285
! S0z
, [ TOP OF sLOT s
- pd
| | 3
2 1/4" - § £
l l I 1/4”[/M]N. 3” n » ‘_ —03
l o 1/4”/MIN. 3 2 —
(@]
/2 $9/16” THRU HOLES AT ~9/16” X 3" SLOT IN ANGLE TO L AL
. B ANGLE AND MULLION TO ACCEPT BOLTS. SLOT POSITION 3
! N ACCEPT BOLTS SHALL BE ALIGNED AND CENTERED 2! o
AT VERTICALLY WITH BOLTS UPON S| &, .3
21401 ;) 1 SUPPORTING INSTALLATION. e 228&"3
(Lo cJl / 2L EsTRATE SUPPORTING STEEL o | 8 iid
: SUBSTRATE BY OTHERS b | G2 Egs
o , BY OTHERS A\ ‘ il A=
| 11/2° 710 .| B zdE
1/4°],/3" . BOTTOM OF SLOT 1/4 I\ 7 2 <o’ P84
- 8‘”%
/I\ STANDARD DEAD LOAD ANCHOR [ STANDARD WIND LOAD ANCHOR vl T
SCALE: 1/3 FULL SCALE: 1/3 FULL O Jesf E
ALTERNATE WELD DETAIL FOR WIND & DEAD o §§5§
LOAD ANCHORS = 2758
NOTE: ALL 1/2” BOLTS ) SCALE: 1/3 FULL I L
CONNECTING ANGLES TO ' RN, o =
MULLIONS SHALL BE GRADE Shorie iy INE |3
5 STEEL OR 300 SERIES A R N N
STAINLESS STEEL. 7 il MO |12 5g
P ) N
40 3 [%‘ E)C‘ ~ o;'.’\z!i’ = =
;f;o:"&sg. (91 g ps | N
fot PRizid izl | N
W igiT oior =D
96\/ L., :' g:: .: \v-.;_qc_-)\y
80 oLt % el DRAWING NO. ] REV.
Wy a0t 17897
AR SHEET NO.
6 o 18




DRAWN BY: CHECKED BY:
W.w.S. WW.S.
» , N
1/2-13 X 4 1/2 1/2-13 X 4 1/2 |
HEX HEAD BOLT & 135 HEX HEAD BOLT & - . "
FLAT WASHER . FLAT WASHER SN 5
j{ SUPPORTING XAIND xjt SUPPORTING| g
N STEEL PIN - STEEL : %
B R _SUBSTRATES OF _9>D’ o SUBSTRATE S g
S ASN jt NN BY OTHERS | PN :"L BY OTHERS | z
EXTERIOR] \\ 3% /% o / \ /%f 7 .
o
| 1/2 13 LOCK NUT | 1/2-13 LOCK NUT S o
_ & FLAT WASHER , ' & FLAT WASHER Zxg
. ~O 0N
ZO0OMn
‘ v . §£<$
11/2" MIN. 1.1/2" MIN, C11/2" MIN. 11/2” MIN. =l -
T N— SUPPORTING T A SUPPORTING 2| 2EQT
A | __ / STEEL SUBSTRATE A, | / STEEL SUBSTRATE <] U38eR
, /43 BY OTHERS | /4,3 ¥ BY OTHERS 3| £u&”
l | g g‘égg
i =
| | { | l I, 2" TO é é
2 3/4” ! h 2 3/4” | N TOP OF SLOT S
I e * l
| | | 1/4" MIN. 3" | | | | -
1 , I | | l/ Il k) | | | : 1/4”] /MIN. 3" = )
11/2 | ] ! | | < 11/2 | | | | | < ol
, L | o ol 27
I : : l _|_ , I I , 8 ELL_ ;:;
2 3/47| | | 99/16" THRU HOLES 2 3/47 | : II l 9/16” X 3" SLOT N || = £2 '§Z§
_ L AT ANGLE PLATE AND L ANGLE PLATE TO o | 2ooal
; MULLION TO ACCEPT , ACCEPT BOLTS. SLoT || B | ME 323
, BOLTS , POSITION SHALL BE o g—oes
| | ALIGNED AND s | B<Bza
CENTER - | =a-°gs
— ! /4,3 i > T | 1/4°/3 | wimH S6ETS DPON NEE @ﬂf%
L | L ™ ~3
€>CORNER DEAD LOAD ANCHOR v BOTTOM OF SLOT y INSTALLATION. NN
SCALE: 1/3 FULL A i
@ CORNER WIND LOAD ANCHOR 5 Qgg
NOTE: ALL 1/2” BOLTS SCALE: 1/3 FULL g 8 O
CONNECTING ANGLES TO Sy - U
MULLIONS: SHALL BE GRADE SoxXimioy AN |
5 STEEL OR 300 SERIES A A N - N
STAINLESS STEEL. PR SRCCH T 1= AR -
A 15 onmh g\ eORE
fo. o L [7p] j) (D. —J;g E_:J <T, }
£~ g R o .
FOR ALTERNATE WELDING OF b’ § o Ef,; & \‘é\
ANGLES TO SUBSTRATE, SEE . P TR =
"ALTERNATE WELD DETAIL Wil igi 8F mme
ON SHEET 6. %g e 178971
R ™ SHEET NO.
7 o 18




T v 117 17 6 1/2” 1 "IN 4 1/2:: T 4 1/2" l DRA\;J:JW.E.Y: CHE%E.{;BY:
” ” f . MIN. ‘ MIN. " MIN. , PLOT EI
' ) 27 >
+ A . [l 27/18 T-ANCHOR 9 7*/16 ~27) 3/4_M_,@, : @ : I
A |W \\“ . 4778 | m _ m : T—ANCHOR 1 . ' =
Bl Il , WY & 4 7/8" 17~ 02 3/4 . -
| /8" - /8 %
T-ANGHOR C el . MAX _l 2 7/16" . . { M MIN. iE
s AT 1 ‘ P J J ‘ | 27167 ‘ J ' v v .
I T-ANCHOR T1 /2" CONCRETE SCREW J—_U =l 6" MIN. 2 . jJJ 3/4 MIN. .| —/‘@" I IL @ £
I/_SCREW/ e PER "ANCHOR | Aty 1 EDGE DISTANCE Y gt —1 . = e &
" PER ELEVATION ' . ) T 1/2" SCREW sz : "~ 3/8" SCREW— : s
5 Raiiboe REQUIREMENTS TABLE” [EXTERIOR - N oR soLT : MTII - ~ » z
a . A : L4 OR BOLT. , 3
l | ? /CQNCRETE EDGE 2 PER e EXTERIOR] oee —  [EXTERIOR 2
. SUBSTRATE BY m £ "ANCHOR _ SECTION B—B (INTO STEEL) "ANCHOR SECTION C—C =
: OTHERS PER SECTION "A—A”" (INTO CONCRETE)  REQUIREMENTS SCALE: 1/4 FULL ‘ REQUREMENTS (ALTERNATE INTO STEEL 5
ME STANDARD T-ANCHOR ~ ANCHOR SCALE: 1/4 FULL TABLE” TABLE" " SCALE: 1/4 FULL
"SCALE;' 1/4 FULL TABLE” 17 6 1/2" g o 2'&8
A ; 27 1:7 MIN 4 1/2" » ~881{)
T ”/—@ } = . e 1” MIN. - .17 23m 3
NS S— . : 1/2" f MIN ——_’“‘ MIN *'“ ~ égéu')
| J T 2 7/16 | py CONCRETE ) e . L il ' | 2| 8202
l l I I n * m _ AR SCREW PER T—ANCHOR 3 4' MIN. | @ ) B T % T
D f W D P "FRAVE .| A | l 2| g3se
ST ANCHOR 4 7/8" - & 4| ¥ o~
| E ! E 12 2.7/18 REQUREMENTS | , ). ¥ 7/8" 2 3/ < |, E8¢2
T-ANCHOR H! , I ' MAXAj { ,—LJ m . TABLE” : /186 MIN. = é
N — 6" MIN. ﬂﬂr 6" MIN. | f 25
| T—ANCHOR | T EDGE DISTANCE ] / 3/ NIN, E I
'/ SCREW/BOLT _ 2) ézB OSLCTREW f SE
PER ELEVATION 3/8" SCREW S
PER - OR BOLT i
I | - "ANCHOR ) R = o
SUBSTRATE BY REQUIREMENTS "ANCHOR | %2
OTHERS PER TABLE" L1 L3
‘ "ANCHOR \ REQUIREMENTS n| 27
CORNER T—ANCHOR REQUIREMENTS EXTERIOR| @8 TABLE" 9 2l
SCALE: 1/4 FULL d ) » M © | WOE .
/ TABLE SECTION “E—E” (INTO STEEL) - | 5758
: ” ” SCALE: 1/4 FULL o Z O Euzfg
SECTION -"D—D"_(INTO_CONCRETE) | /* b CEssn
SCALE: 1/4 FULL » ALTERNATE INTO STEEL ri -3
) , 3/8" SCREW OR : : L BT
i; v “ 1/2" CONCRETE SCREW PER BOLT PER _"ANCHOR 29 SONE: 1/% P E $e S22
» REQUIREMENTS — M Q0 ém{
y[ TR ANCHOR REQUIREMENTS 3/4” TABLE® ' UoANCHOR 3/4" MIN. THIS SHEET IS DEDICATED = |, 2273
—s = &
! ” ” TABLE / U-ANCHOR r 7 » TO MULTI_SPAN & ;l\ gga-l
AW ! : = 5§z
CH /2 = f | | 1 3/8" MIN. REINFORCED : £ 3%
n Tl . 4 3/4" L
L@~ W] wax. ] 4 3/4 'l /4 / B 3 i SINGLE—SPAN ANCHOR o .
_ (- . : o
i er'é ) Y N
| e I CONDITIONS e INE B
I  U-ANCHOR ‘ . =i 1_ _ SR = e
/_— SCREW/BOLT ) J J 1 - ; : 4 ~ ::::::: ‘I i j 3/4:1 MIN. ’ ”‘_\_?:‘.-' : E e \ é%
PER ELEVATION ‘ BT h 4 3/8" MN. R == = , AL : § N (2
i o SUBSTRATE BY | ISTANCE  [EXTERIOR] ~ fu %%, iS5 [l ﬁi)
OTHERS PER . ” o: R 2
"ANCHOR ? SECTION "H—H" (INTO STEEL) % y"&:\g o7 £
$ REQUIREMENTS — SCALE: 1/4 FULL b g s razn
DOOR JAMB U—ANCHOR TABLE SECTION "G—=G” (INTO CONCRETE) 55\/6;... ix oS v 1785'?0‘ REV.
SCALE: 1/4 FULL SCALE: 1/4 FULL Wi SHEET NG,
%'M‘..: ;P 8 OF 18




CHECKED B8Y:
WW.S.

4
SECTION "P—P”

ALTERNATE INTO STEEL

SCALE: 1 /4 FULL

TABLE"

SECTION "Q—Q” TABLE

(INTO METAL STUD OR WOQD):
SCALE: 1/4 FULL

v 32 ) " . , 41/2" . 1" 41/2" | 1"
— 1 5 /2 1 17 MIN. MIN, 1 MIN. | N l MIN, ‘ MIN.
‘ 0 Il 4 } ) 27 7 3/4” MIN. s 77
gy 2.7/ THANGHOR T-ANCHOR I _ i | 7-ANGHOR
K ]W \\“ K 4 7/8" i ﬁ — @_ » ;2 3/4" :
L H' '“ r\l] 1/2" i/ T B @ $7/87 A, | .
_: \ M | |  MAX. , 2 7/18" | K .
I/ SCREW/BOLT PER "ANCHOR | 3/8" SCREW—/M F—& z 1/4" SCREW F ) e E
PER ELEVAT!ON‘\l ?ES&JQ?EMENTS 2 m . E . % Ci%; PER | SE?RBOLT .
I SUBSTRATE BY \CONCRHE EDGE REQUIREMENTS SECTION "K—K” (INTO STEEL) -  “ANCHOR SECTION "L-L"
- " OTHERS PER. SECTION “J—=J” (INTO CONCRETE)  TABLE” SCALE: 1/4 FULL ' $EOUIREMENTS (ALTERNATE INTO STEEL)
’ - T 31/2" MIN. ABLE” SCALE: 1/4 FULL
| STANDARD T—ANCHOR  ANCHOR SCALE: 1/4 FULL 31/2° MN. | B | SCA
= SCALE: 1/4 FULL R LEREMENTS B et EDGE DISTANCE '(\/ — 3/ f 3 1/2" B
, , I T
. 11/2 4 1/4 11/2 ” { ” . ” ‘ . entior | A2 7/16” , @ | | 7}15"
58— f5/8 | rC\‘) | 'IW .\\“ | 'C\J) EEQE\SIB(BJCR)LT B - 4 7/8 — @___{_4 7/8"
# i P PER ELEVATION 2 7/16" }
. ] -é @ FMAX ||| |l| mog — * J I
D 3/47 5" MIN. ——23/8" CONCRETE [F—§1 ;
47/ 2M3|>N/f | t l/ \ | T 1EDGE DISTANCE _ SCREW PER = gés SCREW OR 80T
SUBSTRATE BY l N J oRniENTs B )  REQUIREMENTS TABLE”
3/ T, M IGHOR Looncrere TABLE” SECTION "0-0" (INTO STEEL
} _/ o REQUIREMENTS EDGES ' SCALE: 1/4 FULL
/4" SCREW | TABLE” « SECTION "N—N” (INTO CONCRETE
T [EXTERIOR] A\ F_ANCHOR (FRAVE MEWBER ENDS) S5 S 1(/'4 o )
5/16 SECTION "M—-M" SCALE: 1/4 FULL
SCREW INTO 0 METAL STUD OR WOOD)
oop pir (NIO_METAL-ST.D O THIS SHEET IS DEDICATED
REQUREVENTS TO NON—REINFORCED
(TABLET 1 ! SINGLE—SPAN ANCHOR
5 1/2 | 3 1/2 — B CONDITIONS
% 3/5 MN. $ % 3/4" MIN.
F—ANCHOR © F~ANCHOR 1 M% 8"
2 3/4" . : : )
| o4y - e 47/8
| | ‘ MIN.
i 574 WiN. _ +< é 3747 MIN.
z 1 /4" SCREW PER o -1/4" SCREW PER
"ANCHOR REQUIREMENTS "ANCHOR REQUIREMENTS

DATE:
03/18/13

REVISION DESCRIPTION

NO.

DRAWING TITLE

7 13/16” DEEP 1600 SYSTEM 1 CURTAIN WALL (LM.L)

JOB INFORMATION:

770—-449-5555

555 GUTHRIDGE COURT
NORCROSS, GA 30092

KAWNEER COMPANY, INC.

~~
o
S5
q.
OT_
A -
o ¥
| TN ] P ?
Lo Em,
ZZ 5 g
o Z M
ZG L
W 223
(o]
p=ogyg
o
'IDOUJ
<0 —5(2)
(:S ~ 3o
O s &
U)z ~Z
v = &
Exh =
E73
B>Z
Z O
8 O

CERTIFICATION

0 2013

. NO. 113497

/ SCHAEFER, P.E.

ZN W
P.E/

DRAWING NO. |R

17897

9 wag

SHEET NO.

9

of 18




CHECKED BY:
WW.S.

1" 6 1 /2 » 1” DATE:
» 4 1/2" » 03/18/13
) 17 MIN. 1" MIN.
T T :) /f:t@o}? MIN. 17 ] 41/2" | 1" "
I | | J ., —3/8" I : - : | MIN. , MIN. ' MIN. [I8
( T * | 2 7/16 /mi\( CONCRETE 2 716" 27 T '
T s 78 A B A SCREW PER T-ANCHOR . @ @ ) I
D H/Z W| D f : A‘;\IFEDAI-?OER 4 7/8" i ‘ ) T T-ANGHOR
E 1 i E 12" 27/18" ) - REQUIREMENTS ) 7%6,, AT 4 7/8" 2M‘7,’<4 : " 3
T-ANCHOR \F HI S F ‘MAX. l B : 'MJ—’EQEJL " TABLE” L . ' : . 5
| —! — 5" .MIN. ' 5" MIN. . U / - - ‘ L i
o | T_ANCHOR I 1T\ EDGE DISTANCE ﬁ | EDGE DISTANCE /& soR VA 3/ MIN, _ @ B
I { SCREW/BOLT I | N " | 3 oé_ BOLT . | 3
| PER ELEVATION PER ! ég_ SCREW ;
I _\l ”AN%TO?MENTS "ANCHOR E
SUBSTRATE BY REQUIR % REQUIREMENTS .
OTHERS PER TABLE \_ ¥ TABLE” 2ES
, : "ANCHOR EXTERIOR] N @S -
O conr aos on
: TABLE ‘ - SECTION "X=X" (INTO STEEL) ~| E857
SECTION "W—W"_(INTO_CONCRETE) SOALE: 1/4 FUIL =| SEy3
y (ALTERNATE INTO STEEL) J] =584
T TG SCALE: 1/4 FULL /Y SCALE: 1/4 FULL o %L‘f}g{:
% ( H ” ; % 3/8" CONCRETE— 20 31/2° MIN, _| | ) $ s 82
U TR u | o P ER ’ | EDGE' DISTANGE [, ' 4 |
Vv TR \1//2'" 4 3/4” REQUIREMENTS o OR 31/4 3/8” CONCRETEI—— 2« 'g" £
| ® TABLE” | ‘ - - SCREW PER : 3 |s
'u—% oo N | & . ] %«_J _’ANCHOR L " )
. = 4 3/4"REQUIREMENTS | ED)—<]| | | U-AlGHoR 3 1/4 = =~
—5- t R } TABLE” ?Jg A IRE
—— U~ANCHO i _ _[ 3 7/8" MIN. o ¥
I /— SCREW,/BOLT = EDGE/DISTANCE 7 = ol 21
PER ELEVATION CONCRETE S éd Ig
i —— SUBSTRATE BY ¢ EDGE~, % _ [ 37/8 uN. ©| B9E":
o ) OTHERS PER — , S g EDGE DISTANCE o | 2425
: REQUIREMENTS SECTION S=§ '/EDGES—\ : e B 82l
GDOOR JAMB U—ANCHOR TABLE" (INTO_CONCRETE AT g i E38
SCALE: 1/4 FULL ) INTERMEDIATE MEMBER) SECTION "T-T" - | £~ f%g
cron SCALE: 1/4 FULL (INTO CONCRETg AT o g Ee
3/8” SCREW OR =N =
BéLT PER "ANCHOR REQUIREMENTS 1/2" PERIMETER SIDE JAMB MEMBER) 253
REQUIREMENTS 3/4% MN TABLE=——— _/ U-ANCHOR [ o SCALE: 1/4 FULL : 5=2
[ [/ e — i
| @ | - — /4 \THIS SHEET IS DEDICATED ;
WA, s v @l LT —1 14 |TO NON—REINFORCED g &
4 3/4" ! 1 X , 3 o
/4 @< § 1 ! i~ | /4 |SINGLE—-SPAN ANCHOR g \:g:
T I — [ 8cz$
s —— ' 5 B CONDITIONS | SRS
— T M= /4 MN. EXTERIOR] - - S
EXTERIOR - SECTION "v=V" Q]R%vgcé _Fo. REV.
SECTION "U=U” (INTO STEEL) (INTO_METAL STUD OR WOOD) 7897
SCALE: 1/4 FULL SCALE: 1/4 FULL 10 o 18




SUBSTRATE SUBSTRATE \ A T
BY OTHERS BY OTHERS M& POl [Mees
SPACE | EXTERIOR | SEE GLAZING .
SEALANT SEALANT T~ / DETALS ON /®@ Iz
BY BY |
OTHERS / OTHERS | E
‘ - g » 65 . 64 :
. 65 | ¢ - (235/1 6 !
: /‘\ . @-\ WEEP HOLE| 5 i z
EXTERIOR EXTERIOR LOCATED g
= - . [ 3 5/8" | &
\) i . I
(55 1/2" ' FROM /® 5
| \—. MAX. @L Ny ENDS — e 65 S | Iz
- h SPACE AES , g
3| E gy = sounr/ @ g
P 29) ( . BY , ‘
s SEE GLAZING _ SEE GLAZING OTHERS =]
DETAILS ON DETAILS -ON
SHEET 15 o SHEET 15 Se o
A— : : A SUBSTRATE s 0810
: BY OTHERS Shelrs
SECTION /4y - SECTION /72 SECTION /3 MIAX. £u_5
SCALE: 1/2 FULL \11/" ~ - SCALE: 1/2 FULL \J1/ SCALE: 172 FULL a1/ SPACE ~| 2835
/ _® : 1/2” MAX. SPACE — [ 1/2” MINIMUM TO 1 3/8” MAXIMUM 3 5%85
» Nt O~
SEE GLAZING : - 1 27 MAX. SP CE (SEE "FREE SPAF\’J, JAMB PERIMETER TESIN
44 DETALLS ON (D 06 / A 06 SEALANT NOTE” ON SHEET 1.) =N £8E
J SHEET 19 / “\ WOOD OR =202
o | = — — , . — STEEL OR METAL STUD z 5
$5/16"— ’ V] CONCRETE SUBSTRATE BY < B
WEEP HOLE ‘ —(86) SUBSTRATE BY OTHERS PER =
LOCATED @K : /2,,' QAT'?CESSRPER "ANCHOR SUBSTRATE O Iz
, - REQUIREMENTS || BY OTHERS i =
3 5/8 ' o MAX. REQUIREMENTS TABLE” s| ©
FROM | \ SPACE TABLE” N = S
ENDS = | N SIDE JAMB (X3 El %2
\ J i I F—PERIMITER 5l et
SEALANT ,—SIDE JAMB 3/4” MIN. ANCHOR 2L e
BY - 1 11/2” F—PERIMITER 1B SCREW PER S| Bg <2
OTHERS MIN. ANCHOR SCREW 1 f ELEVATION el 22E°3
| PER ELEVATION 112 (2 ROWS) : o %Eﬂ g;;{
» SEE GLAZING SEE GLAZING 45 b & 357
3 OTHERS DETALS ON DETALS ON J ) DETALS ON S| BT z5s
B SECTION /B SHEET 15 ' ' SHEET 15_> = T SHEET 15‘>, © | 42 85y
SCALE: 1/2 FuLL \J1/ | _>’ b = J , { J , P » 8%’"??{
— R A T N
S | \ 1o l \1o A e
I \\© 2 Jr D
Xz ' s |3®F=
. | / = 28
* T @ l@l@) N\ @ & e\ -
N > © ST Y e N N
N OTHERS 2 5
SECTION G\  OTHERS [T\ SECTION ﬂ:h\w@wps NE |53
SCALE: 1/2 FULL \UJt/ SCALE: 1/2 FULL \11/ SCALE: 1/2 FULL STk : o - AN 5z
(SIDE JANB F—ANCHOR TO STEEL AND (SIDE JAMB F—ANCHOR TO WOOD OR (NO SIDE JAMB FS@CHOR) e &,I, L 2 e g
. gl : 7 = .
CONCRETE) METAL STUD) ;/i(/'\-. E .OL{;E 5 g
~~0 - : O are = NZ
MR SRR RN “g\
FSiaay 1P 2 Dy E:
§CO: By X : 0 Z1S ; =
£ : T = Wl
;"\,.. (2 L : [+ DRAWING No. [REV.
¢S i el 1789T
§\/ . e A
W igr ke | SHE Yo
Wi iE gl | 11 o 18
A N




CHECKED BY:
W.W.S.

1/2" MAX. SPACE — | 1/2" MAX. SPACE —] r‘
(SEE "FREE SPAN JAMB PERIMETER }—— P [YBnens
SEALANT NOTE” 0 ,
00D OR | N SHEET 1.) .
' _ METAL STUD 5
_—STEEL OR { | SUBSTRATE BY a0
| | ' CONCRETE ~ ' : gmcrzﬁgRPER “\ %
, : SUBSTRATE BY o ‘
OTHERS PER . - REQUIREMENTS SUBSTRATE _
"ANCHOR | - ' TABLE” BY OTHERS 5
| REQUIREMENTS = | >
. TABLE” | - ; | SIDE JAMB 8
E | o F—PERIMITER z|
 DOOR UNDER DOOR UNDER: ANCHOR o 2
SEPARATE SEPARATE SCREW PER gogR UNDER g
APPROVAL APPROVAL (E;_E\FggTVIVOSI;l AEPQ%/\\/;EL 5
_ _ SIDE JAMB | .
Cm = F—PERIMITER Co = ] Skg
; ANCHOR SCREW —— == 280
= PER ELEVATION > Zorg
S5
' =l 32 .2
lplyenliyundynd = = Orw-
- i =W |
- S| 38R
EXTERIOR] =/ EXTERIOR] 7, 4| 258"
® &/’ @/ o0~ ety 2|, 588
' SEALANT BY : SEALANT BY z |5
SECTION /By SEAN SECTION gz SEALAN SECTION /o 2 |;
SCALE: 1/2 FULL \J2/ | SCALE: 1/2 FULL \J2/ D3 i fe
(SIDE JAMB F—ANCHOR TO STEEL AND A (SIDE JAMB F—ANCHOR TO WOOD OR SCALE: 1/2 FuLL \12/ 3 |a
CONCRETE) METAL STUD) (NO SIDE JAMB F—ANCHOR) i =
= =)
— =
(arorars) e S % i s
|~ JE
' SEE GLAZING ol B 3
/ ELEVATIONS + / DETALLS ON | Y28y
5° g2
| S | e | Bge
o | DOOR UNDER o /1 o : / ] 5| g=821
| SEPARATE WEEP HOLE| S5l 65 64 | BBz
(6~ APPROVAL o | B2 Bzu
Y LOCATED = S| 5 o-sBE
N 5 58 45 L2 | P2 R3
FROM » é )‘Q ’; E
SEE GLAZING | [} & ENDS — IW MAX. sl e
DETAILS ON - L] (54) , g |32
SHEET 15 ( 2) === P f : 272
| —y meT T SEALANT BY — g |5 8
| [ OTHERS
< $ oz SN
C - EXTERIOR IS
l \ LO _____ = u{g
_____ z = |53
- 2\ N £
Q S
L nz
EXTERIOR - DOOR UNDER = = \5\
SEPARATE 2 N
SECTION /B APPROVAL 1 P
SCALE: 1/2 FulL \12/ s . B
SECTION /7 17891 |
SCALE: 1/2 FuLL \J2/ SHEET NO.
12 oF 18

1/2" MINIMUM TO 1 3/8" MAXIMUM




\/ \/ \/\ DRA\:INW gY CHE(:V KVEIDS ay:
SEE GLAZING SEE GLAZING SEE GLAZING : P [RE
| / DETALS ON DETALS ON /@ + / DETALS ON /‘@@
SHEET 15 D SHEET 15 - SHEET 15 u
| 5 e | = —| 5
. = = .\ = <3 e /@ 85/16" WEEP—| ' -0
95/16" $5,/16—— /@B |~ HOLE LOCATED 0 N
/AN 55 G _ WEEP HOLE L), ' ) 3 5/8" FROM
LOCATED LOCATED ® g t) -~ ENDS——— = ]
SR'%S” | & 3 /6 ] ~ \8 \ L/ DOW 995 SEALANT—] i E
ENDS — ) | ENDS—" = S=c=———8 . gY BéTCHKEEISSR W s 8
EXTERIOR I.YF ' | | | o ' - 0 ~ MAX. g
R 169 SECTION /G0 54 , SECTION -~ /& s  SECTION. -/ |2
#5/16” /U SCALE: 172 FulL 13/ . » SC,AVLE: 172 FuL N3/ TRV RN, 3
WEEP — : g
HOLE Y — » Pl )
LOCATED SEE oLaznG ) 172 AR T S
3 5/8 . DETAILS ON g | Wl I | =38,
FROM SHEET 15 1] 1N 2. 8
ENDS 0 | Bice——== = , N | | £w._B
—x | j ]@’@\ \S'@) UJ' P Hl I , ~| 2834
_ Ve I , - 11/ =| 8= %
@\* — = T ' | - | sgi\\)ég 5 & 22l
‘ A d } —l T wegk
DOW 95— LT 5 &1 L 1y I J| 8"
SEALANT & NN B @D | sl 382
BACKER ROD 5 8 J C /m ) T % e §
o oS s | 2 DOW 995— i @ N =
/ / SEALANT | | | > EE
6 St 1TIEINRY ] =
EXTERIOR A omers ||l FH T MAx. Il SUBSTRATE BY S
o . A PONGHOR =1 8
SECT/'ON @ : | ° H :/ e QUIREVENTS SECTION A—p = SIDE JAMB F-PERMITER ANCHOR | B | 43
SCALE: 1/2 FULL ;
, ; i TABLE s CoNpmo)  SCREW PER PER SECTION C1/11 || £ | o
EXTERIOR ] | | | I (FOR DETAIL NOT SHOWN, SEE SECTION C1/11) 9 E: 3
@\ | | 2| 225
o . 22
| 1N o | B8 ey
: L o oWh
DOW 995 | B E2?
SEALANT l ) < <o 292
BY i m| D 82%
OTHERS | | L1/2" & N
® 1 | MAX. ﬁ g \ E ,%35'
p 7]
/’ L1l A 2 : 352
(56) 2 |3 O
7 7] SECTION B-B —
SPLICE JOINT DETAIL (268)(264) (INTERMEDIATE CONDITION) JECCUNN e
- (FOR DETAIL NOT SHOWN, SEE SECTION J1/14, =75 % I 143%hy SN
J2/14, J3/14, J4/14 & J5/14) R /lf/gg NS g3
5 v PSS SR =A\ V=
8 FUY iR onE 3
A= = N O~ WUE 73
G g \J Fl e %) gg g::ﬂ Y
T T, fo: . ?; ) Iy ::E% d
£ « . - M 7] =z
AT M A &-).'E & “i#\‘,
RO TER ~ Sl <
) S i olp =
eﬁ\(&‘o. . : % : . ‘:Q‘(/"‘: -
(CORNER CONDITION) SR L6931
(FOR DETALL NOT SHOWN, SEE SECTION K/14) 1350 1




CHECKED BY:
W.W.S.

n ! N
< 1\ L
R //&SEE GLAZING
(54) DETALS ON
o SECTION g SHEET 15

SCALE: 1/2 FULL \J4/
VERTICAL FRAME MEMBER WITH
NO REINFORCEMENT
| = 13.768 IN"4
S = 4.157 IN"3

il
3

/

’57

>4
N 7
Zaizd v
ez v O
I P q \ I
J \ |
——= =7
(20) | - //\—SEE GLAZING
 [EXTERIOR] DETALS ON
SECTION /B

SCALE: 1/2 FULL \14/

VERTICAL FRAME MEMBER WITH
‘ REINFORCEMENT R4

| = 46.707 IN"4
S = 12.387 IN"3 — _
(TRANSFORMED SECTION PROPERTIES IN TERMS ] = 116.75 INA4 R
OF ALUMINUM) S = 17.296 IN"3 789T
(TRANSFORMED SECTION PROPERTIES IN TERMS OF ALUMINUM) g

793

AN

V4
7
A

i

>,

Eﬁ%@

*

|

NN
NS

DOW 995
SEALANT &
BACKER ROD
BY OTHERS

TVT
SEE GLAZING IJV_

DETAILS ON

SHEET 15> i
I

0

9995

61

60

_J_MB]

EXTERIOR

\
' e

SECTION

(K

SCALE: 1/2 FULL \14/

I
5
i

LD L2,
I =y \ | I =y N\ [
< \ L < | L
st ——t= s ——]

2 /&SEE GLAZING /&SEIE GLAZING
| DETALS ON A . DETALS ON
~ SECTION /g3 SHEET1S SECTION 73 SHEET 15

SCALE: 1/2 FULL \J4&/ = SCALE: 1/2 FULL \J4/
VERTICAL FRAME MEMBER WITH VERTICAL FRAME MEMBER
REINFORCEMENT R1 WITH REINFORCEMENT R2
| = 30.629 IN“4 | = 37.021 IN“4
S = 8.313 IN"3 S = 9.926 IN"3
(TRANSFORMED SECTION PROPERTIES IN (TRANSFORMED SECTION PROPERTIES /I
TERMS OF ALUMINUM) IN TERMS OF ALUMINUM) W\I\h

VERTICAL CORNER/FRAME MEMBERWITH REINFORCEMENT

FEZH
\/ : /,/‘@
’
EOON >\F |
I Jd
I i !
- m——
JEN: O/&SEE IGLAZING
- DETAILS -ON
SECTION gz SHEET 19

SCALE: 1/2 FULL \J14/
VERTICAL FRAME MEMBER WITH
REINFORCEMENT R3
| = 41.202 IN"4
S = 11.01 IN"3
(TRANSFORMED SECTION PROPERTIES IN
TERMS OF ALUMINUM)

R5

DATE:
03/18/13

REVISION DESCRIPTION

NO.

DRAWING TITLE

770—449-5555

555 GUTHRIDGE COURT
NORCROSS, GA 30092

KAWNEER COMPANY, INC.

JOB INFORMATION:

7 13/16" DEEP 1600 SYSTEM 1 CURTAIN WALL (L.M.L) o

14980)

ENGINEERING &
33418

. P.A. (REG. NO. F—
7480 150TH COURT NORTH
PALM BEACH GARDENS, FL
PHONE: 561-744--3424

W. W. SCHAEFER

CONSULTANTS
CONSULTING

CERTIFICATION

P.E.

2013

SCHAEFER,
/ NO. 113497

EN

/P
(%

WARREN W,

DRAWING NO. |R

g




— SEE GLASS | L SEE oiass SEE GLASS T
N OPTIONS BELOW 1, OPTIONS BELOW / OPTIONS BELOW PO [Mase
T DOW 995 OR 983 B [_ DOW 995 OR 983 DOW 995 OR 983 "
O 060 ®D | ® o :
= of L =50/ | Bz — . | o)
3/4” MIN. BITE Wﬁ__ 3/4” MIN. BITE EEp= ' 3/4" MIN. BITE .
| | ' L (o | 5
f = ] P :
ROODRN ;Egg“e BLOCK AS EXTERIOR] || ;EggﬂG BLOCK AS. : 1300~ :Egg\m BLOCK AS °
- [EXTERIOR | & 6 . _ 0 EXTERIOR ﬁ
- I ' — [
TYPICAL GLAZING DETAIL: MONOLITHIC LAMINATED TYPICAL GLAZING DETAIL: 1.G. GLASS TO 2
" GLASS TO STANDARD FRAMING nG —®9) ; ~ STANDARD FRAMING G
GLASS OPTIONS: ) ‘ " _ J | /4 X 5/8" DOW 995 OR 983 | (NOT APPLICABLE TO CORNER FRAME MEMBER) =38
OPTION 1: 5/8" THICK LAMINATED VIRACON HRG-2 GLASS (1/4” HT. - Al 5 - . 858
ST,/0.050" URETHANE/0.080" POLYCARBONATE,0.050" URETHANE/I/" HT. ST.) - TYPICA| GLAZING DETAIL: MONOLITHIC LAMINATED OETION 5 1 516" THCK L6 LUMNATED GLsss (1/+° br. s o ||| £855
OPTION 2 9/16" THICK LAMINATED GLASS (1/4” HT. ST./0.1 o " GLASS TO SPLICE JOINT FRAMING - TEMPERED EXTERIOR; 1/2” AIR SPACE; 1/4” HT. ST./0.000” soluta || S| 8% ¥
SAFLEX HP/1/4” HI. ST.) ) N ‘ - ' SAFLEX/1/4" HT. ST. INTERIOR) ‘ =] zEQJ
$G/1/4” HT. ST.) \ OPTION 1: 5/8” THICK LAMINATED VIRACON HRG—2 GLASS (1/4" HT. TEMPERED EXTERIOR; 1/2" AIR SPACE; 1/4" HT. ST./0.080" DUPONT || o | Z5&"
OPTION 4: 9/16” THICK LAMINATED GLASS (1/4” HT. ST./0.090" SOLUTA  ST./0.050" URETHANE/0.080" POLYCARBONATE/0.050" URETHANE/1/4” BUTACITE PVB/1/4” HT. ST. INTERIOR) ), 882
SAFLEX/1/4" HT. ST.) HT. 'ST.) ; 2
OPTION 5: 9/16" THICK LAMINATED GLASS (1/4” HT. ST./0.090" DUPONT  OPTION 2 9/16" THICK LAMINATED GLASS (1/4” HT. ST./0.100” %’% %(ETETRE'SE,E‘;EL@S\SNHP&NECl%/iig' v\?ALfLZ'NG Z Hg
BUTACITE PVB/1/4" HT. ST ‘ SOLUTIA SAFLEX HP/1/4” HT. ST.) GLASS 1S INSTALLED IN A SMALL MISSILE E g
OPTION 3: 9/16” THICK LAMINATED GLASS (1/4” HT. ST./0.090" IMPACT LOGATION OF A BUILDING OR. WHEN 3
DUPONT SG/1/4” HT. ST.) GLASS IS REQUIRED TO BE SAFETY GLAZED. - E
OPTION 4: 9/16” THICK LAMINATED GLASS (1/4” HT. ST./0.090" | =
SOLUTIA SAFLEX/1/4” HT. ST.) _ = §
SEE GLASS OPTION 5: 9/16” THICK LAMINATED GLASS (1/4” HT. ST./0.080" o e
y OPTIONS BELOW DUPONT BUTACITE PVB/1/4” HT. ST.) AEN
=] 14 b
DOW 995 OR 983 S| m..3
e| 22Es
ZLm
£ ® e | B¢ eat
- B E88
o o/ =] B =38
3/4” MIN. BITE[ <74 s | B< By
‘ - 2| <o 7%k
! —— S| Bgiit
SETTING BLOCK AS N L
EXTERIOR R 2 53(_/:);
' 0 £ 22
= s |5 o
==20| NOTE: EXTERIOR GLASS PANE OF LG. GLAZING y
® %) SHALL BE TEMPERED WHEN CURTAIN WALL I o
48 _ GLASS IS INSTALLED IN A SMALL MISSILE e :”;5% AN B
. ” IMPACT LOCATION OF A BUILDING OR WHEN e R TR S I [ )
1/47 X 5/8" DOW 995 OR 983. g 555 |5 REQUIRED TO BE SAFETY GLAZED. P g AN 2
A R Tz |l 0z
g rT o o e =
TYPICAL GLAZING DETAIL; 1.G. GLASS TO ;’LL; SN \(\/s)\igg = g
SPLICE_JOINT FRAMING i 21T 2 =V
GLASS OPTIONS: A P30T Wiz N
OPTION 6 1 5/16” THICK LG LAMINATED GLASS (1/4” HT. ST. OR TEMPERED EXTERIOR; - b iz Q00 S
172" AR SPACE; 1/4” HT. ST./0.090" SOLUTIA SAFLEX/1/4” HT. ST. INTERIOR) oo, (&1 6F FTETTI TR
OPTION_7: 1 5/16" THICK 1.G LAMINATED GLASS (1/4" HT. ST. OR TEMPERED EXTERIOR; T Tl 17RGT
1/2" AIR SPACE; 1/4” HT. ST./0.090" DUPONT BUTACITE PVB/1 /4" HT. ST. INTERIOR) ‘\Q‘\;\ = el 1 EHEEF NO'18
AU N g OF




5765 . 651 5 2 SOO DRA\;T\IV?: CHE(iv)fPELDS- BY:
| 5.250 ' 5.250 ' ’ / 2.500 | T
— . - M T : . 7 &
f b 0.220 0.220
—«F 5
0.125 — }— . : 0.125 — |— ' » _ ,
S | 2.479 2.479 y
. [=}
1 - [ g . g5 52 - | | s.250 2
(1) HEAD & SILL HOR RAMING HEAD & SILL HORIZONTAL' ERAMING o ' ——000 - || g | 0100 8
USED WITH MONOLITHIC GLASS us .G. GLAS E / S | 2
6.912 : . '
6.848 — . - , 3
125 | ' | ! SES
1.1 : I} ) : =50
| L 2.328 [H] = Q >332 18
<Z): To)
. (5) EEMALE_HALF EXPANSION HORIZONTA 0.120 = || (3) STANDARD VERTICAL MULLION o _ %“ggi
7 USED WITH MONOLITHIC GLASS : OR_HORIZONTAL _ : = OF .«
2 [&]
7599 | / INTERMEDIATEMEMBER_USED =] E271
! (6) MALE HALF NSION HORIZO USED WITH MONOLITHIC GLASS - (4) CORNER MULLION USED WITH =1 Hogrx
f WITH MONOLITHIC GLASS | = 9.607"4 ONOLI IC_GLASS AND STANDARD 341 £3&
0.110 1.125 7 663 S = 316973 ULLION OR HORIZONTAL £l sn=z
; - - g | 5
‘ : I ' 1.G. GLASS Z I3
FEMALE HALF EXPANSION HORIZONTAL - —— 3.754 T=—1[2A7E7A4 <
USED WITH L.G. GLASS [ 0.100 A, 3
' U 2308 — o O Iz
, l . . — =
2.500 | 2.500 ——
0.125 — f— : =~
f——2.500—~4 0.847 - ‘ 1 |z| 8
| 2.500 0.862 o S2
0.100 1.347 o Y
0.100 t 7 .
B ’ l MALE HALF EXPANSION HORIZONTAL USED - 0.100 0.100 o1 2l e
— WITH 1.G. GLASS ' PRESSURE PLATE S| Ho =2
E o R,
(17) PRESSURE PLATE (2) PRESSURE PLATE [o1ss el 2253
o | BSEyy
! 2.500 f , _f_: (3) CORNER MULLION ADAPTOR | m zg:_, Sk
_ : o ~—~OF -~
. #:520 ——0.125 | 4.520 | 4.350 —~ | E< g2
: 2270 || - — © | WTBsy
LENGTH = 3.125" S ] £ 88
2.082 0125 ro» = 0125 LENGTH = 1.562" e o[ Bg e
P00 1 s sorc s i fest
@_: 2970 @ SHEAR BLO ORIZONTA o |ETR
N = ~ , SHEAR BLOCK LENGTH = 1.562" ' : [5E2
(13) PRESSURE PLATE . LENGTH = 1.562 - (HORIZONTAL FRAMING STAND c MULLION g |8 8
| - (1) SHEAR BLOCK (HORIZONTAL FRAMING TO IO CORNER MULLION) —] _
' STANDARD VERTICAL MULLION) : . P x
: SHEAR BLOCK (TRANSOM e '~
: 4760 MULLION TO_STANDARD . A R A Z\\ £ |£2
. — —_—C Lottt W IV ,9 (=] gt
1,500 b VERTICAL MU - PA S SRR AT £~
4068 | —— 3.208 —— CFas D o 8\
| —L i [y i35 G |E =4
f J 0.750 0.125 | 2.500 [r 0.050 —J~—q |0.504 fo;«\%\f@’ iolg pidld Sy
2.270 | 0.050 | i Gl Mo Zizs = gD
. - :z Rl : pf <
—| 0125 LENGTH = 4.250 ! (2)) CORNER PRESSURE._PLATE 7SN s g
JJ 0.504 oV B - CIL e DRAWING NO. |REV
SHEAR_BLOCK (HORIZONTAL EXPANSION LENGTH = 6.500" 1 COVER N 78T |
MULLION TO CORNER MULLIO F 0 E 0%
VERTICAL MULLION SPLICE SLEEVE STANDARD PRESSURE P COVER WS RES SHEET NO.
N 16 or 18




0504 — |-
—

0.050 —~—

X

C§
0.060 —

— 0.997

—
0.942

|

DOOR_POCKET FILLER

@ EXPANSION HORIZONTAL -

.~ MULLION COVER

t———i 4,980
0.080
r

———] | oem 4]

0.434

I

=)

f LENGTH = 4.000"

@su_ RAMING

—

LER

\

O

-——“-‘— 0.062

I

1.000
f

—-‘{ 1.000

JOINT PLUG USED WITH

MON_OL!THIC GLASS
- SYSTEMS

0125

LENGTH = 4.875”

- 8.000

' x\ 3.250 —
3.250 —{ = 0.125
LENGTH = 4.875" 0.250 l -
- | N
8.500 — 1
QL | ~—~1.750—]
—|—o0.125 0187 —| = g Z)
- B g
1.125
4 0.031=1 281 ~F=— 0.164
— 1125 |- 4,560
(32) CORNER MULLION JOINER i
. LENGTH = 2.500”
@ COVER_SPLICE
_ . N
(36) MULLION REINFORCEMENT
| = 5.667 IN"4
S = 2.485 IN™3

0.076

0.553

20

0.230 —{
EXTERIOR GLAZING FIXED

USED 5
MONOLITHIC GLASS

GAS

0.283

—

0.630

1

o

0.615
0.345

0.630

0.292 —|

EXTERIOR GLAZING FIXED
GASKET

(28) E=ANCHOR

—| 1500 |-

(L2 2
3

0.164 —
3.810

| /)

@ MULLION REINFORCEMENT

2.208 IN"4

| =
S = 1.159 IN"3

@

F—1.624 —|
O

_ —»”—— 0.062

=

|

f
1.000

4—‘ 1.000

JOINT PLUG USED WITH

D

.G. GLASS SYSTEMS

—

3.250

l

2270— 0125 —|—
LENGTH IS
o CONTINUOUS.
0.155 —
0.250 3 s
.LENUG_TH ; 3-750 (30) F=PERIMITER_ANCHOR

—| 1.250
L

0.164 —

¥

=)

/i

3.388

ULLION REINFORCEMENT

S =

= 1.453 IN"4
0.858 IN"3

GLASS SYSTEMS

0.250 — L:_

/

4

#

4.500

| = 1.898 IN"4

S = 0.844

IN"3

MULLION REINFORCEMENT

DRAWN BY: CHECKED BY:
W.W.S, W.W.S.
PLOT: DATE:
1=2 03/18/13
( .
0,125 = f— 8
3
LENGTH IS 2
4,000 %
CONTINUOUS. N
. [=]
g
[v4
: g
|
1.125 Sy
(3]) E<PERIMITER_ANCHOR zom
USED_WITH WITH LG. . Sw 9
GLASS SYSTEM ~| =858
- 80: -l
- 583
-] zLDDﬁ,\
1.750 — 2| Z8o~
l_' é : Snz
z |z
7 <k
[ 1
x|z
S P
= (=)
Ll ve]
4.500 n| 32
>= o~
vl z!
o 1 s
ha) h! . )
o Lo £m
-1 ZZ2% 3§
o ., Zu.r?
G| 83 Eys
- Al «£8s1
W, ESS
CORNER MULLION o | LS 8zu
REINFORCEMENT | 2% o8
| = 13.289 IN"4 W RS RET
S = 5.906 IN"3 N
o |53
s 3=z
_b.,\*h\‘ir\\h < 5 9
) ‘o ':_&7":7\9}1}% = c_©
A:;’- ..:.'Eé' E ”"."/QE% Lr.l
;ljf < : (\)})‘._\))*’ ;B
Eal tO s ° A Ly
5:5%%2@33%350 o
fOISm 21 T S0 S\ N\ 5s
fw RN = ¥
f\/. it : \/'%4— o oz }4
NS tE s =< o
e\/ ... :%.... Q“:" = E\)
% & Pea, ! M - o
RN S
DRAWING NO. ] REV.
17897
SHEET NO.
17 o 18




ITEM # ITEM DESCRIPTION MANUFACTURER /NOTES TEM # " ITEM DESCRIPTION MANUFACTURER /NOTES T
PARTS PARTS P | Yisea
1 |HEAD & SILL HORIZONTAL FRAMING 6063~T6 ALUMINUM 36 |[MULLION REINFORCEMENT ASTM A7011 GRADE 50 STEEL
USED WITH MONOLITHIC GLASS 37 |MULLION REINFORCEMENT . ASTM A1011 GRADE_50 STEEL g
2 |HEAD & SILL HORIZONTAL FRAMING 6063—T6 ALUMINUM 38 |MULLION REINFORCEMENT , ASTM A1011 GRADE 50 STEEL
, USED WITH I.G. GLASS ' 39 |MULLION REINFORCEMENT " | ASTM A36 STEEL %
3 |STANDARD VERTICAL MULLION OR HORIZONTAL 6063-T6 ALUMINUM D 40 [CORNER MULLION REINFORCEMENT ASTM A36 STEEL
INTERMEDIATE MEMBER USED WITH . - - 41 |5" X 3" X 3/8 X 6 LONG ANGLE | 50 KSI STEEL z
~ |MONOLITHIC GLASS o | e | 42 8" X 3" X 3/8” X 6° LONG BENT PLATE 50 KSI STEEL £
4 |CORNER MULLION USED WITH MONOLITHIC GLASS | 6063—T6 ALUMINUM - ' SEALS & SEALANTS . - 2
AND STANDARD VERTICAL MULLION OR HORIZONTAL | BN 45 [FIXED GASKET - TREMCO TR4726P EPDM DUROMETER 70 +/-5 2
~ | INTERMEDIATE MEMBER USED WITH"1.G. GLASS ' S 46 |THERMAL SEPERATOR A | TREMCO TR—4015P EPDM DUROMETER 60 +/-5 |2
5 |FEMALE HALF EXPANSION HORIZONTAL USED 6063—-T6 ALUMINUM - R 47 |EXTERIOR GLAZING FIXED GASKET USED WITH TREMCO TR—4860W EPDM DUROMETER 60 +/—5 2
WITH MONOLITHIC GLASS | : 5/8" MONOLITHIC GLASS | |
6 |MALE HALF EXPANSION HORIZONTAL USED 6063—T6 ALUMINUM 48 |EXTERIOR GLAZING FIXED GASKET USED WITH TREMCO TR—4014P EPDM DUROMETER 60 +/-5
WITH MONOLITHIC GLASS - | .G. & 9/16” MONOLITHIC GLASS B } Srov
"7 |FEMALE HALF EXPANSION HORIZONTAL USED 6063~T6 ALUMINUM - 49 |WEDGE GLAZING GASKET TREMCO TR—4873S SILICONE DUROMETER 70 +/—5 =52
WITH 1.G. GLASS 50 |5/16" X 7/16" GLAZING TAPE NORTON V2100 FOAM OR TREMCO 920 $8% 3
8 |MALE HALF EXPANSION HORIZONTAL USED | 6063-T6 ALUMINUM : B 51 |STEEL TO ALUMINUM_SEPERATOR | THERMO—TOK .TN-9004 | Eu<®
WITH 1.G. GLASS , - . FASTENERS , o 322
9 |CORNER MULLION ADAPTOR 6063—T6 ALUMINUM 54 [1/4 X 1" HWHTFS 300 SERIES S.S. WITHIN 3" FROM_ENDS & 9" MAX. O.C. = JEQY
10 | PRESSURE PLATE 6063-T6 ALUMINUM 55 [1/4-20 X 2" FNTCS 300 SERIES S.S. WITHIN 9” FROM ENDS & 9” MAX. O.C. =| HagR
11 |PRESSURE PLATE 6063—T6 ALUMINUM 56 |NO. 10 X 3/8" FHIFS 300 SERIES S.S. 1 _PER JOINT PLUG 4| £ng"
12| PRESSURE PLATE 6063—T6 ALUMINUM 57 |10-16 X 1 1/4° FHSDS 300 SERIES S.S. 1 PER VERTICAL MULLION SPLICE SLEEVE Sl 802
13| PRESSURE PLATE 6063-T6 ALUMINUM - 58 |NO. 12 X 1" PHTFS 300 SERIES S.S. 1 _PER VERTICAL MULLION SPLICE SLEEVE z IE
14 |SHEAR BLOCK (HORIZONTAL FRAMING TO 6063—T6 ALUMINUM | | 59 |NO. 12 X 1" PHTFS 300 SERIES S.S. 2 ABOVE SPLICE; WITHIN 3” OF END 3 O.C. = ?§§
~ | STANDARD VERTICAL MULLION) | - 60 |1/4" X 3  S.5. HWHTFS FNTCS 300 SERIES S.S. | WITHIN 9” FROM ENDS & 9" MAX. O.C. 5 E
15 |SHEAR BLOCK (HORIZONTAL FRAMING TO 6063—T6 ALUMINUM 61 |1/4-20 X 2" FNTCS 300 SERIES S.S. WITHIN 9” FROM ENDS & 24 MAX. O.C. © 8
CORNER MULLION) 62 |NO. 10 X 1/2° PHTFS 300 SERIES S.S. WITHIN 6" FROM ENDS & 18” MAX. O.C. i S
16 |SHEAR BLOCK (TRANSOM MULLION TO 6063—16 ALUMINUM ‘ 63 |[NO. 8 X 1/2” FHTFS 300 SERIES S.S. 2 PER U~ANCHOR | & 3
STANDARD VERTICAL MULLION) 64 |NO. 12 X 1 7/8” PHIFS 300 SERIES S.S. 2 PER SHEAR BLOCK o 82
17 |SHEAR BLOCK (HORIZONTAL EXPANSION MULLION | 6063-T6 ALUMINUM 65 |NO. 12 X 7/8" FHIFS 300 SERIES S.S. 2 PER SHEAR BLOCK ol 27
TO STANDARD VERTICAL MULLION) 66 |NO. 12 X 7/16" PHIFS 300 SERIES S.S. 3 PER SHEAR BLOCK o B %
18 |SHEAR BLOCK (HORIZONTAL EXPANSION MULLION | 6063—T6 ALUMINUM 67 |NO. 12 X 1/2° FHIFS 300 SERIES S.S. 2 PER SHEAR BLOCK 3| WIEP,
70 CORNER MULLION) 68 |NO. 12 X 1/2" FHTFS 300 SERES S.S. |4 PER SHEAR BLOCK o | 8.2%%
19 |VERTICAL MULLION SPLICE SLEEVE 6063-T6_ALUMINUM | : | Lim Eg3
20 |STANDARD PRESSURE PLATE COVER 6063=T6 ALUMINUM 5| g=oeg
21 |CORNER PRESSURE PLATE COVER 6063-T6 ALUMINUM | 5<Eay
23 |EXPANSION HORIZONTAL MULLION COVER 6063—T6 ALUMINUM T | £* 288
24 |DOOR POCKET FILLER 6063—T6 ALUMINUM O] Bg st
25 |SILL FRAMING FILLER 6063—T6 ALUMINUM En x5 &
(AT 1/4 POINTS OF FRAMING SPAN) | N -
26A [JOINT PLUG USED WITH MONOLITHIC 6063—T6 ALUMINUM | ‘ JECCS O : 275
GLASS SYSTEMS S nHIggy, e ds o
26B_|JOINT PLUG USED WITH LG. GLASS SYSTEMS 6063~T6 ALUMINUM P RO ] "'.}?4}3; u
27 |T-ANCHOR 6063-T6_ALUMINUM Fos e Qe C 5
28 |F~ANCHOR 6063—T6_ALUMINUM ‘ £l ih o LEE NS (B
29 |U—ANCHOR 6063—T6 ALUMINUM : L 7 AR &:;:ofi 2 X0 (2
30 |F—PERIMITER ANCHOR USED WITH WITH MONOLITHIC| 6063~T6 ALUMINUM s PRI~ ]
GLASS SYSTEMS - e |
31 |F—PERIMITER ANCHOR USED WITH WITH LG. 6063—T6 ALUMINUM Y 0. |1© &
GLASS SYSTEMS o = g\b
32 |CORNER MULLION JOINER 5005 H32 ALUMINUM ' = _
33 |COVER SPLICE 5005 H32 ALUMINUM ' ' %R‘}“’g‘é]'io REY.
’ SHEET NO.
i 18 oF 18




